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This book has been written for those serious English language learners who equate language
development with extending and refining their use of vocabulary. In particular, it systematically
covers the vocabulary used to express and discuss complex and abstract ideas; words which
often have a low degree of lexicalisation but which are very commonly used across discourses,
and some which have recently received attention in university word-lists.

The text attempts to avoid the anglo- and eurocentricity of many vocabulary resources, and
focuses on words and phrases that convey higher level meanings. This resource should,
therefore, appeal to such users of English as international students studying in English speaking
countries, academics, teachers, and business people. We believe the material will also benefit
students who are studying for the Cambridge Advanced and Proficiency exams or the IELTS test.

In Words for Ideas, we present and practise important areas of higher level lexis in challenging
and interesting ways; areas covered include: the language of argument, reference, uncertainty
and enumeration. We define ‘lexis’ as including units of language beyond the singular word level
such as common phrases, fixed expressions and idioms.

We have taken particular care to make the material readable and user-friendly. In addition,
many of the exercises have been created so that they can be practised interactively in groups,
although students can still work on the material on a self-study basis.

Words for Ideas is divided into two sections. The first section of ten chapters presents and
practices vocabulary items that are not thematically bound and which have a low degree of
lexicalization. By lexicalization here, we mean a word that may have a highly concrete and
particularized meaning. Such words are common in more formal and academic discourse. The
second section of five chapters recycles many of the words practiced in the first section in the
context of vocabulary from thematic areas. These areas are important in formal English, but here
they are also highly suitable ‘venues’ for practicing the more abstract vocabulary of the first ten
chapters.

Each chapter has suggested answers and these are provided at the end of the book. When
learners work with these kinds of words, it is important for them to recognize that black and
white dictionary definitions will only take them so far in learning meaning. Words for Ideas
shows how words work in context, and how their meanings often depend on their collocations
and the grammar with which they are bound.

———— i ——————— ..

1

Argument Words

We use a number of particular words to present the arguments in texts. These words often show the u
connections between the points being made.
3 i

—

@mamdmmmnmhmmﬁdﬂ,hmﬁgﬂﬂmthm
mm,mmcwqmmﬂadhcmnmdMMMfmmmﬂlhamm

argument aspect conclusion debate fact factor
issue point question solution

m Look at the following table. Match the argument word with a suitable word or phrase from the other

column.

1 the obvious A a solution —‘
2 : the need to find B agreement |
3 no clear C issues

4 The question D solution i
5 one of the most controversial E have had little or no effect 1
6 these moves F of what )

[3.] Look at the following table. Match the argument word with  suitable word or phrase from the other

column,

1| [ Critics N A view '
2 : Objections B is likely to be more effective

3 An alternative C argue

4| | some consider this .... to be unrealistic| D debate

5 | | this is not an either/or E have been raised

6 This proposal F suggestion

L]



@ The following text is about the pressures of road transport. Use the phrases you formed in Exercise

2 to fill in the gaps.

[ ) .. should be done to curb the increase
in road lmHlL is (2] . on the
government's agertda In the paa.t (3] -

was to build more roads. However, the new roa.d space was quu:kly ﬁ]led as more peuple ¢:I~|mej to I::uv,r cars
5 for their everyday needs. Today, as we understand more about the effects of traffic on health and the
environment, and as congestion on roads has become critical, (4)...
(Y oo AT L SIS A IR EY 1) IR ——————————————
what measures should be taken. 3
Through public campaigns, the government has tried 1o persuade us to make fewer and shorter ]nurneys. and
10 to use alternative forms of transport, but (6) .. e e R e s

DPuuhephrmyuuformedinEmtﬂsesinmtheappmprhtcwhlhhpmapwbkh;sa
continuation of the previous text on road transport.

Some believe that the gcrvernrnent should d|scmrage people from using private cars by |r|:masmg fuel and
road taxes. However, (7) .. e =
(8) ... e . that such a paucy wuuld prm-e 10 be
unpupul.ar \Mth voters Furthemmre, recent studles show that untess taxes are increased to an unacceptable

5 level, lhey do not affect car usa.ge

9 .. .. is to restrict car access to areas of towns which
get very oongested and to resinct access to certam raads al certain times. Such schemes have been successful
in other parts of the world. (10) .. v rremecenaransp bt ean R e +vuerss in the short term and
wouidbemnrepopularmmmrers (I1} Ei

10 that such schemes will need a large arnauntof gm-emrm:m money fnr bolh se-ﬂing up restnctms and fnr
develuplng publlc tr.ansport alternatives. In the end, however, common sense suggests that
(12) .. .. and that a range of measures to curtail car

usage is gumg to be necessary

shmbairabessase

[6.] Match the words in the lefi-hand column with the definitions on the right.

| 1 argument | A something you decide as a result of considering all the information you have
| 2 | aspect B serious discussion of a subject in which many people take part
5P D anchuion C the reasons for an opinion, idea, belief, etc
| D a thing for which proof exists
4| | debate E a particular feature or way of thinking about a problem, situation, idea,
5 fact plan or activity

]

7] Match the words in the lefi-hand column with the definitions on the right.

1 L 1 issue A a pamcular idea, opinion, or plE(.E of information that is said or written
2| paint B asingle part that combines with others to form the cause of something
_ C a situation or problem that needs attention and needs to be solved or
| 3 factor answered
! 4 question | D a subject or problem which people are thinking about

EMztchlhewordsmthcleﬂwhhthswnrﬁsonlhedghtlofarmcommoﬂyusedphnsm

A aspect into account

r‘t | contributory
B the question

| 2 draw

3| | examine C this conclusion
4 | | determine D factor
5 take this E the facts

|!UNowputmephmyonformedhmﬁushtothcappmprh(cspuumthescntcncesbeluw
adapting the grammar where necessary.

1 Before we come to any tonclusion in this Matter we ave 10 ...
carefully.

2 It would have been natural to assume that genes were made of DNA. However, people were rather
SIOW B0 «.v.voememiessssmssmsassnsarsmrasmmnmecnsapssssbasbss et resiss &

3 Negligenl:e L I S ... in the breakdown
of the car.

4 The minister said that he would ..., of increasing delays in the postal
system before making a statement.

5 One of the .. WE haVE 10 ceveremerreresesesassssesesssssssisansansansnss is that God
may not want Hlmself tu be knawn

[10] Match the words on the left with the words on the right to form common collocatioos.

E a moot A good arguments
2 [ | advance B conclusion
3 [ | animated C argument
4 the salient D point
5 [ | logical E discussion
6 [ | persuasive F points

?'-



@anpmthtphmmynufomndinﬁmisclﬂinlotheappropﬁatespacesinthcsenunceshe!m,

adapting the grammar where necessary.

1 The essay prﬁents .. of the discussion in a clear and logical manner.
2 The most .. forweanngseatbeltsnsthenwrberoflwesmeym
3 The referendum on dl\rorce pmvoked mud1 Jasa et e s

4 They did not understand the subject well enough to .

either in favour or against.
We can take this argument to its . i
Whether or not these controls WI|| reallyremcewolent CTME i5 @ ..oovnvrensrenn

&

[12.| Collocations

Look at this grid of adjectives and nouns. Which of the adjectives along the top can be used to

modify the nouns down the side? Some have been done for you.
Which three adjectives collocate with nearly all of the nouns?

g

o
O el s
Fo B F o goFoy wad §
X X

argument

F
£
§

aspect

conclusion

debate

fact

factor

issue

point

question X

[13.] Lok at this grid of verbs and nouns. Which of the verbs along the top collocate with the nouns down
the side? You may need to use a determiner such as ‘every’, ‘the’, etc. Some have been done for you.

&
f &bl 114

Ingg,

3

&
4

oy,

5‘.‘ . w
§ F
argument x

aspect

conclusion

fact

factor

issue X

point
question X

[l_‘ij Presenting arguments
Match the noun phrases on the left with the verb phrases on the right.

A powerful argument against the practice
of abortion is that

A common argument against the
compulsory study of Latin in schools

Another persuasive argument submitted
against the practice of testing products
on animals

One of the arguments used against the
Copernican system

One of the arguments in support of the
introduction of student loans

One of the arguments presented against
the death penalty for murderers

A widely-used argument in support of
the sport of fox-hunting with dogs

A is that it is wiser to give our time to modern
languages and modern history than to dead

languages and ancient history.

is that it is still a cheap and effective way of
keeping the fox population low, thereby
reducing the number of attacks by foxes on
lambs and chickens.

is that graduates benefit financially from
higher education, and so should contribute
towards the costs of their education.

is that it is possible that an innocent person
will be put to ‘death’. Indeed, over the years
many people who were executed were later
found to have been innocent.

was that if the moon were in orbit around the
Earth and the Earth in orbit around the Sun,
the Earth would leave the Moon behind as it
moved around its orbit.

is that many of the animals used are sensitive
and intelligent; they feel the discomfort and
pain just as a human being would.

it is wrong to kill innocent human beings at
any stage of their development.

L
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15] Speaking Activity
Individually, prepare at least one argument for and one argument against for each of the following issues.

| television advertising high petrol taxes
compulsory military service mixed education
| free health care genetically modified food crops

low taxes for the rich giving money to beggars on the streets

developing a tourist industry film censorship

building new roads

banning smoking in public places

B -

In groups of four, discuss your arguments on each issue and decide which arguments are the most
convincing in each case.
Report your finding to the rest of the class.

(16, Writing Task
Write arguments for or against at least four of the above, or any other issue that concerns you.

You should write about 250 words.

Organising the Argument

Sometimes we need to signal to the reader how we have organised our writing. We can do this with
| numbering signals when we want to show that a number of things are going to follow.
———————————=n

Numbering signals include words and phrases such as: a number of, several, a variety of, some, a few,

| agreat many. Note that in formal writing you should not use ‘a ot of .
- ~—-

i Exact numbers like ‘one’, ‘two’, ‘three’, etc., tell you exactly how many things are going to follow. They
may be followed by sequencing words, such as: first’, ‘secondly’, ‘thirdly’, ‘lastly’, etc.
S Auboisiaicinte

[ﬂ a) Read the following text and put exact number and sequence words in the gaps. The first has been
done for you.

b) What do you notice about the punctuation in line 6? How does this punctuation ‘predict’?

¢) Between lines 10 and 15 the divisions of the passage are reinforced by three other words; what
are they?

The Origin of Species falls into three parts. The (1) ... i represented

by Chaper 1, deals with technological BVOILtION. TN (2) -......vwwrwrrsrcrssvesesrenees IEPIESONEE DY

Chapter 2, the longest chapter in the book, deals with the development of the family and kinship

SYSIBMS. WHile thE (3) .....cvcrrresasivsssrsensnirers CHPIETS 3-4, deals with the evolution of the State.

CRR 1 C ) J—— 1 ] ) PR L L of human evolution from the earliest to

the most recent: savagery, barbarism, and civilization. Savagery itself was again subdivided into

(.7 [P || .|+ - N [ [ there was the lower substage of

savagery characterized by the gathering of wild plants and honey. ;7 J——— L

middle substage characterized by fishing and the introduction of fire, and R

10 an upper substage characterized by hunting and improved tools. Barbarism, similarly, is divided into

(L[ J— T - T R T R the stages are not seen as universal, since

according to Engels, they differed in the old and the new world. The lower substage of barbarism is

common and is marked by the discovery of pottery, but the middle substage is marked by agricufture

and domestication of plants in the new world and by pastoralism and the domestication of animals in the

15 old. The upper substage is marked by the discovery of iron smeiting and the invention of alphabetic
writing.

<

.

-

.
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| a) In the following grid, match the nouns along the top with the phrases that collocate with them.

Some have been done for you.
-
- “ =]
g o g £ g
& § § £ ¢
| several important B . - ! . o
only a few _ L j | X
| a variety of other |
| in several B |
| lin) a number of _
a variety of distinguishable X X
| several other cell |

b) anseﬂﬁubkphruufmmthegﬂdmﬁﬂthegapsmlhefollowingsemenm.

1 The therapist's interventions contain ..........
of problem solving. These include being prepared to listen and acknowledge the difficulties.

2 In deciding upon a sale the MiniStry CONSIGETS ........curersssmmemsssussrsss s
st the price, the readiness to bring in new capital and the
ability to maintain employment levels.

B U e s oot mssasersssorsesnssanss aub asssasesereeseenseeny SUUERY 2B muscular dystrophy and
cystic fibrosis, has the gene and its protein been identified.

4 Striated muscle cells are fused With ..., wrrj these

include liver and cartilage cells.
5 Law has evolved in relation to the nature of government and is influenced by
sorssesesessnsennes SUCh as climate and population density.

..............................

IR LTY o L e requiring further
discussion. The first of these is whether a crime actually took place.

7 Table 16.4 shows the most recent estimates, AR oo imee sesihinsmann s s n b bamama s o s mi e s et RS
(oceans, fossil-fuel combustion, and biomass burning) represent substantial reductions from earlier
estimates.

B DRI UEBH orronnleieorsssories ioioesissimsssssiienbesississishimbinismsssssnsemmmimeeessses SO distinguishing sexual
characteristics selected in this way: (1) the features acquired by sexual selection are confined to
one sex: (2) the features develop fully only at sexual maturity; (3) the features often appear only
during the breeding seasen; (4) males are in most species the most active during courtship.

9 Carnivores themselves are rarely preyed upon by other animals. There are ............ocooouereesissones
revreereernennnns0f fOraging behaviour and food preference, varying from

the trackmg andpursmtof prey animals by running them down, through stealth and pouncing
methods to omnivory or insect eating.

3.] Complete the following sentences, using the kinds of sequencing and numbering words you have

4]
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20

studied in Exercises 1 and 2. The first has been done for you.

1 A third role of sleep is that it provides an opportunity for the growth and repair of tissues. This is
controlled by 1) ...... hormones; 2) ......, growth hormones, and 3) ...... testosterone.

A third role of sleep is that it provides an opportunity for the growth and repair of tissues. This is
controlled by 1) several hormones; 2) firstly, growth hormones, and 3) secondly, testosterone.

2 To the Rogers book, Kermode contributed an article entitled ‘The Policy of the School’, in which he
SO B) caccianndnim it fooshi mak s it ssunsoani asbassasass objectives: 2) ........ Se— the establishment of a
‘superlative technical school’, 3) ........... the creation of an ‘inspired teaching staff and 4) .......... the
promotion of innovative practice.

3 Our subject is the body clock; how it influences our physiology and behaviour and how it interacts
with the rhythms in our environment. In this part of the book we will attempt to answer 1) ........
SO | T (11, H | [ —— , What experimental evidence leads us to believe
that we possess an internal body clock? 3) ....cccoeuu. , what do we know about the rhythms that the
clock controls?

4 The demographic change has 1) ...... causes, both of which are reasons for joy. 2) ........., people are
living longer on average than at any time in human history. 3) ... , birth rates are tumbling
across much of the planet.

Numbering is often more subtle than we have seen in the exercises.
Enumeratives often join with argument words (See Unit 1) to link ideas in texts. Look at the
following passage. What ideas in the text do the highlighted words refer to?

STRANGE FRUIT

Australian bats are suffering from a plague of deformity.

Flying foxes in Queensland, Australia are being born with developmental abnormalities, and biologists syspect that
chemicals are to blame. Flying foxes are facing severe problems with habitat loss. This 1) factor may cause pregnant
bats to feed on fruit sprayed with pesticides, or on plants that naturally contain harmful chemicals.

I the past few months, spectacled flying foxes have been born with defects such as extra digits, enlarged heads and
cleft palates, and have died shortly after birth. This 2) aspect of flying fox physiology is not usually important as two
or three bats with developmental defects are seen each season. But this year at least 50 have been spotted, says Hugh
Spﬂm,wmm&wTrophdRmthtatkmal(hpeanﬂdﬂwWﬂ'I'ropil:aWaidHerﬂxgeSim.

Spencer also raises MmS]M.TMbﬁaMforﬂmrmundinsmeWuddHﬁita@eamhasbunmdumd
by over one third in the past 15 years, and some upland forest is also being lost. Is this shrinkage forcing the bats to
turn to food that is causing the birth defects? “The population is clearly under stress,’ he says.
Habih.tdeamcxmyahoheﬂﬁ:mmofascwndﬂqut&dwckhmﬂhcmwmdmmﬁeﬁngmeh
mmrﬂﬁ&ommbmdadﬂﬂgfmhﬁngmmmshntmmmtmmw
Armstrong, a fruit farmer and chair of Queensland Fruit and Vegetable Growers, says his farm has lost three-
quarters of its peach and nectarine crop.

Neiﬂlertlwsg:madodmrﬂmmkadadﬂﬁnghxklﬂedmwdmpmdmwhaahh%ﬂﬁdmm
hnmsmapﬁyﬁrmﬂmmkﬂﬂwmhmkﬁdwyammmumwmmmnmmmnmw
Stephen Gamett of the Queensland Department of the Environment and Heritage in Cairns suggest that numbers
of spectacled flying fox are holding steady. But in a report that has yet to be published, Garnett and Spencer make
another 6) point. The spectacled flying foxes, which help pollinate trees and disperse seeds, need protection because

they are vital to the health of the rainforest.

3=
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|J Phrases of fact

Phrases of fact are used to mark the discourse when we need to focus attention in a text or show a
contrast.

a) Use the following phrases to complete the gapped sentences below:
as a matter of fact* in fact* in view of the fact is that a fact

1 He s still unemployed. ... he has not had a job since he left

school.
2 A: He's still working in the bakery even though he celebrated his 79th birthday last month.

;S R \estoseerestessastsasa semeRsES oL 48 SHSSutE At PR RS e S RSO SR A AR A4 SRR e s
3 It seems to be a fairly easy job but,

quite stressful. o
4 He found it difficult to obtain work ....... e e T R that he had a criminal

record.

* these phrases perform the same function

b) Use the following phrases to complete the gapped sentences below.
the fact is apart from tbe fact the bare facts

1 o esssses s sssossssssesssersssesessnss Tt the pay is low, nursing can be an excellent career
choice.
2 I'm not interested in what you think might have happened. Just give me

3 .*\ithough mamf criticisms and objections can be raised, ... the new scheme
has helped 300,000 young people find work.

Now match the phrases with their functional uses.

A
Function Phrase
1 | D| A phrase that introduces a comment that A is that a fact
modifies or contradicts the information
n in a previous statement. B the fact is
2 A phrase that introduces a clause
indicating exception. C apart from the fact
3 A phrase tha! draws attention to the_ most I ax w v ol Bt
important thing you have been saying.
4| |A phrase which shows that what E in fact*
someone else has just said is surprising.

Function Phrase
1| B | A phrase which indicates that you are A i view of the fact
giving more detailed information about
something you have just said.

B as a matter of fact*

2| | A phrase which is used to introduce a

| clause of reason. C the bare facts

3 A phrase used to refer to information
which is known to be true, as opposed to D
speculation,

in fact*

* these phrases perform the same function

|T1 You are now going to read a short text about life expectancy.

Jactors

Put the following words and phrases into the gaps in the passage.
firstly Jor example in fact

reasons

secondly

Over the last 100 years the world has seen unprecedented changes in the patterns of life expectancy.
At the beginning of the last century, (1) ... average life expectancy in
Britain was around 40 years; at the start of the 21st century it is around 80 years. (2) ...y
during the last half century average levels of life expectancy have increased by two years for each
decade.

There are two underlying (3) ... fior this INCrease. (#) ... ey
agricultural science and effective distribution systems have meant that very many more people hms
access to an improved and more reliable diet. (5) .. ., medical
science and our understanding of the causes ofdlseasa haw rneam that many of 1he ten'IbIe Irﬂwtious
diseases which threatened people up until relatively reomﬂycm nownotonubetraamd but also
largely avoided. Other, though perhaps less obvious (6) ... a PeRRm— e )
improved living conditions and safer working practices.
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9. ] Speaking Activity

-------- £ ‘. = _f')
ILh.dlu lﬂ.ll Words

Now read the following essay which presents one particular point of view in answer to this questig
‘Although the position of women in society today has improved, there is still a great deal of sexu; j
discrimination.’ Do you agree?

Thcrg are a I1LII'I'IL!( r of \.\nrdﬁ \»\hmh we use for types of ideas or beliefs. These are called ideational g
words.

-
a) This is an essay which gives an opinion. How is that shown in the first paragraph?
Look at the following words. Which are more emotional and subjective and which are more rational

Throughout this century, the role of women has changed and the majority of people feel that this change is for - or objective? Discuss the reasons for your grouping with a partner.

the better. More women work than ever before, and it is accepted in Western culture that many women now have. . aith thesis
careers. Nonetheless, in my opiniofl there is still a great deal of sexual discrimination against women wi attitude belief cleim f bypo
society, and the belief that sexual equality has been achieved is not altogether accurate. kenowledge perspective theory

To begin with, many women Fmd;tvery difficult to return to work after having children. The main reason ToFii§
is that there are rarely any provisions made for childcare in the workplace and, in these cases, women are fG e
to find someone to look after their children while they, the mothers, are at work.

In the second place, the traditional view of the position of women within society are so deeply ingrained that :||q

have not really changed. For instance, not only is the viéw thag women should stay at home and look after thei
families still widely held, but it is reinforced through images seen on television programmes and advertisements,
An Mﬂ_ is that few men are ever seen doing housework on television, since this is traditionally thought
of as “a woman's job’,

Which of the words did you have difficulty with, and why?

@ Look at the following table. Match the ideational word in italics with a suitable word or phrase from
the other column.

Lastly, since families often need two incomes in order to enjoy a good standard of living, a woman finds herself & .::. 1] | has given rise to the A hypothesis
doing two jobs: one at home and one at the office. So it could be said that a woman’s position has, in fact, - 2| | alarming B goes
g:;::;:;awd rather than improved, with the result that women carry the burdens of equality but get none of the | 3 [ the know 5 C of other writers

] 4 the attitude D claim
Taking thesé points into consideration, | would say that the position of women has improved only slightly. While — b E which brought about
rules and laws have changed, it is the deep-seated opinions of people within society which are taking a longer time § 5| |sothe theory B
to evolve. Needless to say, until these attitudes have changed, sexual discrimination will remain a problem. 6 the belief F we know

7 | as G Uf

b) Three types of words and phrases are highlighted in the text. What is the difference between the |
three types?

¢) Which of the types are enumerators and organise the argument?

@prutthephmesthﬂymmadthﬁxerdchhtheappmpﬁmetheﬁﬂaﬂngm.

On Friday, 5th May, 2000, all the planets we can see with the naked-eye, that is, Saturn, Jupiter, Mars, Venus

and Mercury, will line up with the Moon and the Sun. Apparently, this groupmg mly happens once every six

thousand years. Already the event... = .. that Kenya will be at

the North Pole and Antarctica will be on the Equator Because uffhls, P e
., the polar ice caps will melt, sea levels will rise and flood the major l:mes of the wmld

d) What is the purpose of the other types?

Debate: ‘This house condemns vegetarianism as an unnatural and unhealthy way of life. S | P —————
3 only came about in the 1960s when the Belgian astronomer Jean Meeus did all the calculations by hand. In fact
Form groups of four. Within each group two students prepare arguments to defend the motion and the i he found fourteen such planetary groupings between 1000 and 2400 AD.

other two prepare arguments to oppose it. Debate the issue within your groups.

. is even more alarmist. It is . E He g .. the so-called
Fsyrhlc ar(haenloglst jeﬂrey Gmdma.n that, 'Quakes and vokanm are set uH around lhe world and a rift
TE] Writing Task opens up as the Earth splits in several places to relieve the stress produced by the shift.”
‘m&mmksm o - . = ; mﬂ ; g ) However, what the alarmists fail to notice is that a similar grouping of five planets, the Sun and the Moon
of as many arguments as possible for vegetarianism. Look at the model essay given in Excercise 8. ovcurred on 5 February 1962, and, .o .., the Earth did not fall sideways nor did
Antarctica melt.
You should write between 250 and 300 words.
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4.| Now fillin the gaps in the following sentences by choosing one of the three words which follow them.

1 Both our teachers and our parents had great ..........c.ccooovvmnrnrcsnnnns in the ultimate triumph of
truth, justice, and human community.
a evaluation b judgement ¢ faith

2 There is agreement that the management of patients who attempt suicide can be difficult and that
there is a need for the development and ..........coccooooiecnceiriccnnne of new forms of treatment.
a evaluation b insight

3 When Peter was at school he never gave me the ... .. of being just a
schoolboy. | can only Ihmk of him as a student; even when he was unly eleven.
a position b insight ¢ impression

4 If there is a central idea behind doctor-patient relationships, it is to be found in the
...................... wrvimssenssenss Of duty, A doctor has expertise. A patient seeks help and is therefore
vulnerable. He can only rely on the doctor’s skill and good faith,

a judgement b position € concept

5 The tutor takes the ..........ccoovniseisncisnnian.n that students need to take responsibility for their own
learning.
a position b proposal © insight

6 At the age of 25, she took an overdose when she thought a boyfriend was about to desert her. She
was offered psychatherapy, but this proved ineffective and it was concluded that that the patient

L e T T into her problems.
a view b evaluation ¢ insight

7 Professor Briers was a particularly engaging man, with a real sense of the student's point of
---------------------------------------- ; always bright, friendly and positive in his teaching but blunt, quick and
unmistakably clear.
a evaluation b view c insight

8 At my university we now offer courses in Canadian literature, but it was a struggle to achieve this.
There was a time When a ........corevormecercrernsessesesses for teaching Canadian literature was met with
a polite, amused silence.
a theory b proposal ¢ judgement

(5.] Match the words with their definitions.

1 attitude A a statement that something is true even though it has not been proved
— i or others might not agree

2 | e B an idea of something

3 | | claim C the calculation of how good, important, valuable something is

4 | | concept D opinions and feelings that you usually have about something

5 | | evaluation E trust or confidence in someone or something

6 fa|th F the unproven feeling that something is definitely true or exists

ﬂ Look at the following collocational grid. Which of the verbs and adjectives at the top go with the
" ideational nouns down the side? Some have been done for you.

g
£
- F 3
5 g = § & 5 2 3
¥ s § & § & & F
- = o ] 7] -~ -
| attitude 1 o
belief - -
claim | L
concept
evaluation
faith ) Ll

> Which of the following prepositions normally follow the ideational nouns above? to, in, of.
Which nouns may be followed by ‘that'?

[7.] Now use your knowledge of the collocations in Exercise 6 to fill the gaps in these sentences.

1 Some parents seem 10 adopt an .......ccemremseineresessinns .. that it is the school's job to teach their
children how to behave, and not theirs.

2 Because of their self-interest and fear of what would come next, some people developed

.. faith in the power of the leader to secure victory when most people knew that

defeat was mE\rllable

3 Even though | was in an advanced Maths class, | couldn’t ..o the concept of
integration in geometry.

4 The government has faced a great deal of criticism over its disputed ...
warming is not a serious issue.

... that global

[ 8.] Match the words on the left with their definitions on the right.

1 hypothesis A aclear, deep and sometimes sudden understanding of a problem or
] situation
. impression B understanding or information about something gained through study or
experience
: - it o C mﬁlaofhwgnodorbadme&ingis
4 judgement D an idea or opinion of what something is like
— E an idea or explanation for something that is based on known facts but has
5 knowledge not yet been proved

19w=-
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9.] Look at the following collocational grid. Which of the verbs and adjectives at the top go with the
ideational nouns down the side? Some have been done for you.

See g
i Omf‘-’&iqg

i lmPfESSIDn

|insight | | |
| judgement
knowledge . X
perspective S| -

> Which of the following prepositions are used after the ideational words above? of, into, about, on
Which of them are followed by ‘that’?

@Nwmwmkmwhdgeofthemﬂwdonsmhudu9mﬁumemmmmmm.

1 The teacher will ask the students to gather their information about different kinds of words and
develop a tentative .. % .. about meanlng

2 The captain’s recently publnshed dlanes cn‘Fer a.
to lead a team to such success.

3 Although he spoke other European Ianguages well, it took him two years before he acquired even

... insight into what it takes

a rudimentary .... .. of Dutch,
4 The course emphasasas the epplned nature of the studies by giving students cases where solutions
to problems have to be found and applied in order to offer a ... on problems

with environmental and social variables.

@Mamlmcm:damthclcﬂwhtlhdldeﬁmﬂuumﬁeﬂshl.

1 | | position A asuggestion, often written |
2 proposal B aset of ideas intended to explain something about the world

3 [ | view C attitude towards something

4] | theory D an opinion, a way of thinking about a particular thing

12 Look at the following collocational grid. Which of the verbs and adjectives at the top go with the

ideational nouns down the side? Some have been done for you.

.
fv
-? J -5’ 7 a0
oy o] 5 5 3 ¢ = s s
§ § § F § § & ¢ ¢
| posiion | [ x | |
|_proposal N . | e
theory
:_view

= Which of the following prepositions are used after the ideational words above? of, about, on
Which of them are followed by ‘that’? Which could have ‘in’ placed in front of it?

;_]Tﬂﬂuwuscyuwknwldgcofthemllomhminfxmhc 12 to fill the gaps in these sentences.

1 The government's official .. . on employees accepting gifts is that an employee
may not accept a gift if the glft is from a pruhlblted source or the gift is given because of the

employee's rank or position.

2 Yet Special Relativity was quickly accepted, and led to the much more subtle and ...................
....................... Theory of General Relativity.

3 When the Soviet Union disintegrated, the prevailing ...........cooovenen was that nothing would take
its place. -

[14] Look at the following groups of words. They are sentences which have been cut up and jumbled
up. Put the groups of words into the right order and make complete sentences.

1 and are sometimes / are not often sympathetic / based upon the view / Government attitudes / in the
short term. / that preserving / the environment is too expensive / towards environmental issues

2 about the author's intentions. / led me to / My failure to grasp / of the boak / the central concept / make
wrong judgements

3 ;w;iimcelomppmfbythemvmmfmyougiw!mﬂwnumbemaf;‘pecplewfmsrmkei‘
/ put forward / that the proposal / to ban tobacco advertising / will have no effect / your daim

21=.



4 and then / cannot take place / Evaluation / has been collected / its potential benefits put into / of the
new treatment / perspective. / until all the data

5 about the corruption / in the poin:e and created /' many people’s belief | no longer to be trustecl [ within
the police force have shaken / Recent revelations / that the law is / the impression

B A S S A B4R R R e e R SRR S LR S R RS R AR R R RN

6 and gave me/ insights / into Darwin's theory / It was a / many fascinating / of evolution. / wonderful book

7 are now common / as a result, / Details of the scandal / have taken the.fknm-ledge and, / many people
/ that he is no longer / position / the right person for the job.

@Lookatthefulhwingphmsescamfullymdthmplmlhmintheappmgriatespncesindle

discussion text below.

¢) maintain a sceptical attitude

a) absolutely no scientific basis
d) and superstitious attitudes to life

b) evidence sbows that people

Horoscopes appear regularly in today’s popular newspapers and magazines. Some pecple say that
they are wasteful and promote superstitious attitudes, while others argue that they are simply a
harmiess form of light reading.

Those who argue against the publication of haroscopes, and the practice of astrology more generally,
point out that such activities have 1) ... ., and in effect are a
form of deception or lying. It can also be argued lhal rnroacnpes are ha.rthI in so far as they
encourage people to develop imational beliefs 2) ...
Consequently, rather than taking responsibility for their actions and lives and making efforts to irnprtwe
themselves, people will tend to blame the stars for what happens, or, perhaps more seriously, come
to depend on horoscope readings to make important decisions.

However, other people view horoscopes more favourably. They are not harmful, it is argued, because
people do not really believe what they read when they look up their weekly horoscope, and they do
not become dependent on them. 3) ...t take just as much
responsibility for their lives after reading horoscopes and, although people who are superstitious tend
to be horoscope readers, reading horoscopes does not necessarily make people superstitious.
Horoscopes, it is argued, simply provide a little light reading on a Monday morning; some relief from

the daily grind.
Taking both of the views expressed above into consideration, it would seem that, as long as people

use thair common Sense and 8) ... s .., horoscopes should be
seen as a relatively harmless form of entertainment.

16/ Speaking Activity

In what ways do belief and faith show themselves in your culture? Think about religious belief, but what
about things such as superstition and astrology?

Prepare 4 5-minute lecture to give to the rest of the class on this topic. Your audience will have two minutes
to ask you questions afterwards.

[17) Writing Task
"Following a religion is not the same as being superstitious. Religion gives people a moral and spiritual

purpose”. Discuss.
You should write between 250 and 300 words.

23w
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Problem Words

il—_. Look at the following list of words, which may all be used as synonyms for the word ‘problem’, and
put them into groups. Then discuss the reasons for your grouping with a partner.

crisis situation dilemma mystery
question flaw limitation drawback

ZJInlhesentmcesbelow fill in each space with one of the following words.

crisis situation mystery limitation

1 The civil war has contributed to the country’s WOFSt CONMOMIC ....oocvnrreersinssisnsmcrasseseens in recent
years.

2 The AN sy trnsress s of the study is the failure to address how the results of the
new policy will affect the poor.

B TS TRIRIPRES .. oic. o isisasisssrssiasasmvinsta worsened as heavy rains brought with them the risk of
disease.

4 108 Sl @ ..oveerrerenisces e sen s 10 SCiENtISts why there should be two main patterns in

embryo cell division.

|i| In the sentences below, fill in each space with one of the following words.

Sflaw dilemma question drawback

5 The refugees were faced with the ............ocooeenisisnirisinniens: Of whether or not to return to their
country,

6 A problem for evolutionary biuloglsls concerns how genetic factors arose. There is, in fact, some
disagreement about this ..

7 Upon closer examanahon, |t is apparent lhat there are a number of wvery serious

. in his argument.

8 The main .................................................. of the proposed site was that road access was
restricted, but this was outweighed by its many advantages.

E In the table below, match the words in the columns on the left with their meanings on the right.

! 1 dilemma A something which needs to be investigated or considered
2 | | flaw B a situation in which someone or something is affected by a very serious
problem
. dr-a- . C adifficult situation in which you have to choose between two alternatives
4 KEISES D an aspect of something that makes it less acceptable or less useful
5 | question E part of a theory or argument which is badly argued or unsupported

[5.] In the table below, match the words in the columns on the left with their meanings on the right.

t mystery | A an event which delays or reverses your progress |
| — B something about which there is doubt or uncertainty, but which also i
H |
2 hitch seems to be very difficult to understand |
| C an unpleasant situation which is difficult for a person or a group of people |
|3 sethack |
. to escape |
i 1 || predicament D when referring to a piece of writing or research, used to indicate that
i there has been insufficient coverage of a particular area
LE limitation E a slight problem or difficulty which causes a short delay |

6. See if you can match the words on the left with their synonyms on the right. Only match words
within the same pair of boxes.

‘T | puzzle A flaw :
|2 defect B hitch !
‘3 obstacle C mystery E
4 | | shortcoming D sethack
5 reversal E limitation
6 mrc_:ﬂuFmstances F predicament(s)

7] disadvantage | G drawback
8 | | question H dilemma
9 quandary I query

@ Now fill in the spaces in the sentences below with words that you have matched in Exercise 6. Either
word of each pair can be used.

1 The unexpected results of the eXPEriment WEre @ ... 10 the: scientists.
2 The crash investigators decided that @ SEFIOUS .............commmmsresrereesssnsssescssssss IN the fuel pump had
caused the explosion.

3 As a result of the puhlacnty generaled by his extra-marital affair, his political career suffered a serious

4 Ifyau haveany ... about the admission procedure for this course,

please contact the depanmemal secretary

25—’



5 After overcoming a sefies of MINOr AdMINISTAIVE ... usmmerrmssemmmsmmessmrsssssssnssesee e expedition
finally got under way.
6 Having built up a very high level of debt, he found himself in (a) serious financial
.. after losing his job.

7 Although |t is |nlerest1ng ahd hlghly or:gmal the paper has some major .

8 A major ................................................................. of the new premises was that they were too small.

8.] Look at the following collocational grid for: dilemma, flaw, limitation, crisis, question, mystery,
situation, and drawback. Which of the adjectives or adjectival nouns down the side is a common
collocate of each noun? Some have been done for you.

£ s I A
" §d 4 & § 4 8 ¢4

economic |
ethical |
_technical
explosive | |
serious & B X
principal
|_major
| religious

|

[9.] Now fill in the gaps in the following sentences by choosing a collocation from the table above.

1 A more . ks ioares
‘justice’ in two dlﬁefent waﬂ,rs
2 During the 1930s many parts of the world suffered from a severe .
S —— . Germany, for example, had seven million people unemployed in 1932,
3 The decnsmn to start. mamtaln, or stop healthcare treatment is a serious .......c... RE—
... facing doctors and nurses in circumstances where patients are ter’mmaliy ill.
4 The most . . ... of the study was that a control group was not used.
5 When some of the soldlers deserted wnth thelr mpnns and ]nmed the demonstrators, the crisis
soon deteriorated into an extremely ...
6 Some people say that the origin of the universe requnras an explanahcn, not a creator; it is a
scientific, ot @ ......coceerieiinees s TR AR .

.. in Socrates’ argument is that he uses the word

§—

[1@ Below is a list of verbs which are often used when problems are mentioned. See if you can use them
" to fill the gaps in the exercise below.
exacerbate defuse overcome rectify explain,
1 Government officials from both countries are holding four days of talks aimed at
......................................... tensions over trade.
2 Careful and accurate analysis of the problem is needed before deciding what help is required and
what the patient has to do to . .. his problems.

3 Union leaders argued that mrreasmg lhe number of pohoe WO ....ovoirinimimcissairsmsnenssesnera s anines
the situation outside the factory gates.

4 The fault with the landing gear should have been .............c.oeisssssrssssannns DEfOrE the Boeing
took off.

5 In his paper at the Montreal conference, Prof. SUZUKT «....coivvevririinsiissminsnes the problem of
genetic drift.

mmmsuggcstmwhatsimﬂmthefonmidhmﬂcupmhmmigmheumﬂ

teething trouble

where’s the catch? spanner in the works

iron out the problems the nub of the problem

12 Match the phrases on the left with those on the right to create more complex commonly used

phrases.
1- make any serious effort to A s to try to reduce R
2 have a key role to play in putting B many opportunities to do this
3 environmental organisations provide us C of the problem

with
1 becoming increasingly aware D pressure on governments
5 resulting in E tackle the problem
6 the first thing we need to do F the degradation and destruction of natural
habitats

27t
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Ll@ Now complete the spaces in the short problem/solution text below with an appropriate phrase from

Exercise 12.

Thmugh education and the news media we are all 1) .. .

. of environmental destruction. The ever grmwng gluhal populatlm the E-:qnnsnon of Ihe
wurld 5 Utﬁ, the unsustamable oonsumpnm patterns of the rich world, and the ‘catch up development policies
of the rest of the world are 2) ...............
the contamination of soils, rivers s and oceans am:l the pullu‘tm uf the air. The pm-:ess seems to be |rreversable
and gavermnents around the world seem to be unwilling to 3) ..

Nevertheless, there are things that we can do as individuals that may begin to make a difference. 4) .

. the amount that we consume. Living wrthout acar, fur
example ancl usmg pub!n: tl'anspurl can aﬂually mal:e a significant difference, especially if large numbers of
people can be encouraged to do this. We should also try to buy products that we use more carefully. This means
trying to buy local products which do not need to be transported great distances, which do not require too much

packaging and which can be recycled when no longer useful. We should also try to buy organic food products
since this can help reduce pesticide contamination of the environment and also reduce the amount of dangerous
pesticides and herbicides in our own bodies.

Apart from making changes to the way we live our own lives, weneedtohdprasemmessmrewally,
and also in the media and in govemmenl 5) .. -
ﬁcmnhes ma'y' u'n:iu e: joining Ietter writing carrpmgns dlssenmanng
mforrnatmn pamclpahng in pmests and rajsung funds. Eeronrnental organisations also 6) .. =
.. to formulate and pursue more envmnmnlally fnendly
pollcles. Thesa rmghl |ndude lnmasmg taxes on enwronmentally harmiful industries, investing in research into
renewable sources of energy and organic agriculture, subsidising local waste recycling schemes, and increasing
aid to developing countries for sustainable development projects.

Eﬁmtmﬂchmewordsnnthe]cﬂmththcirmnmgsunlhcﬁghlmdlhmusclhcappmpriltc

words to complete the sentences below.

1| |destroy A to cause something to become worse or less effective over time
2 degrade B to cause so much damage to something that it is completely ruined and
useless

3 | |deteriorate | C to systematically break down a building or an argument
4 demolish D to become worse

1 With greater skill and a good command of the facts, he ..........cooccosussinmniscansnunen his Opponent's
argument.

2 The bomb ...ooccovvevoecesveeiciissennn.n. @ Warehouse containing humanitarian supplies belonging to the
Red Cross.

3 As weather conditions ... e s , rescue parties had to call off the search for
the missing walkers.

4 The study showed that even short-term exposure to sunlight ... the
paintwork.

15j speaking Activity
Discussing problems

a
b

List what you think are the three most serious problems facing humanity today.

When you have done this compare your list with that of another student, and together decide on a new
list.

Be prepared to defend your list using well-supported arguments, but also make sure you listen to the
arguments of your partner.

Then join another pair of students and compare the new lists. In this larger group, try to come up with
a list that you can all agree on.

Once again defend your list using well-supported arguments, but also make sure that you listen to the
arguments of others,

Finally, you can compare your group lists with those of other groups in the class.

6] ridng Ta

Write a short essay on the following topic:
A serious global problem and some possible solutions.

You should write between 250 and 300 words.
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'1.| a) What do the following words mean to you?

effect correlation factor pariner symbol association
b) What kinds of relationship do they each indicate: causative, consequential, statistical, personal
or representational?

Lﬂ a) Maich the words on the left with their meanings on the right.

1| [aftermath T ™A serious or negative effects of an event or decision which usually occur some
— time after
2 repercussions | g4yl the passible results of an action or decision which may not be obvious at first
| C astrong emotional or psychological effect on a person or on a group of people
3 ramifications : i

D the period which follows a very destructive event or accident, and the effects of

this

4 impression ‘

b) Now use the words to complete these sentences.

1 His mother's early death, and his experiences during the Vietnam War, made a lasting

.............................................. on him.
2 The total cost of the hurricane and its ... inrcisisssssinnnnns will never be fully known.
3 Have you considered all the possible of this proposal?
4 The decision to raise taxes was t0 have SEMOUS ...t for the

government.

E]a) Match the words on the left with their meanings on the right.

| outcome
} | results existing theory or body of knowledge
B the negative effects of a drug, in addition to the function of curing an illness
side-effects | ¢ often used to talk about the findings of a scientific study or experiment

| = ¥ .y .
implications F D the situation that exists at the end of a process of discussion or decision-making

['A sometimes used to describe the effect of a new idea or new discovery on an

b) Now use the words to complete these sentences.

1 Unambiguous evidence of the existence of ghosts would have serious .........ccoeonv: AR RN
for our understanding of matter and existence.

2 It is still too early to predict the .. R .. of the meeting.

Thesa: s o masaimasssaT suggest that the search fcr a general theory may not be fruitful.

4 The drug may trigger a number of very unpleasant ................... R e . including
nosebleeds, nausea, headaches and tiredness.

=

eﬁecl tRESULT] noun [C J[U] 1
1 the result of a particular influence:
The radiation leak has had a disastrous effect on/upon the environment.
| tried taking tablets for the headache but they didn’t have any effect.
| think I'm suffering from the effects of too little sleep.
She has a lot of confidence which she uses to good effect (= to her advantage) in interviews.
See also after effects
SN ——

_4—‘ All the sentences below describe a cause and effect relationship. Use a preposition to fill in the

gaps.

1 Poor harvests have resulted ................................ chronic starvation.

2 Severe malnutrition in children leads ... early and irreversible brain damage.

3 Incorrect levels of chlorine in the body can give rise .. = ... high blood pressure.

4 Asaresult.. . severe malnutrltm, young chall:lren may become brain damaged.

5 Kwashmrknr is one oi the mndltmns caused .. = ... protein deficiency. -

6 Her illness was brought ............... by Imng for a long time in damp and cold
accommodation.

7 All his current health problems stem ...............ccco.cosceuenn.. his smoking and drinking habits.

5] Match the phrasal verbs in the column on the left with their collocates in the columa on the right.

S,

1| | bring about A happy memories
2| | bring back B a change in policy
3 | | bring down C the patient

4 bring forward D the date

5 bring in E the government
6| | bring out F anew law

7 | | bring round G the issue of

8 | bring up H anew model

1=
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a 'girlfriend ' fiancée ) L . ]
b lone parents " single mothers ] |
¢ pohgamy | pobandy -
|'d father-in-law . | step father _ _ |
{ e guardian : _ godfather
f other half _spouse
8 a couple = partners
h nuclear family _ extended family
i traditional family past-modern family
E}ﬂ Now use words from Exercise 6 to fill in the gaps in the sentences below.
1 A low-income . csieseeessemieseeesmnene 15 @t high risk of depression, which may have
negative effetts on her chlkdrerl
2 The .. ... family, which is increasing both in number and in social
ameptance, is charan:tensed by fr'ee chmce and diversity.
3 The .. sevveesrene which is composed of two parents and their children, tends
to be geoglaphlc;ﬂly mobnle
4 In Vietnamese society, the ........... reeerees e CONSISES of the immediate family
and close relatives who share the same famtly name.
5 Many people blame the feminist movement for undermining A e S TR
values.
6 In many traditional African societies . oo essiasssssesessnes 15 the norm; on the other hand,

)

............................................... is extremeiy rare.

Use the following relationship words to complete the sentences below.
correspondence  association  similarity  correlation metapbor  dependence

In English, there is often a lack of .. between the sounds of spoken

words and their written forms.

LR T E R pe— L student motivation and

educational achievement.

An .. .. between these symptoms and inadequate diet over a long period of

time has bee-n suggested

The weather, in all its forms, is often used as a . .. for human emotions.
i bemeen her husband and her son.

| was taken aback by the astnmshlng T

I am not looking forward to the . ;Jn others that old age can often bring,

b) Now rewrite the sentences in Exercise 8a using a different grammatical form of the words that
you have used to fill the spaces (verb, adjective and adverb forms). The first has been done for

you.

1 In English, the sounds of the spoken words and their written forms often do not correspond.
or
In English, the sounds of the spoken words do not always correspond with the written forms.

9. Look at the words in the grid below. Decide which adjectives and adjectival nouns collocate with
which nouns. Some have been done for you.

| productive
| underlying B
| loose ) | il EECR I
|_unknown , X
| striking

|
|
.
|
|
T

grave
serious
greenhouse |

Dhtthcfuﬂodngphnmlntulhuppmprhtesmeuhhﬂmbduw making grammatical

striking resemblance unknown origin grave implications

placebo effect greenbouse effect underlying cause

productive relationship loose association

1 The decline of public transport has .. i .. for European cities, two

of the most serious being reduced moblilty l'or dnsadvantaged gmups and environmental damage.
2 There are many words of .. —— L Engllsh Ianguage
3 It was agreed that the new socnety should be rnerely - TR
physicians and scientists and should not have fixed membershlp
4 The .. .. of death refers to the disease or injury initiating the
sequence of wents Ieading to death
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The two brothers BOre @ ... et to each other, so much so that
on first impression some people mistook them for twins.

THE sismiisersesssamssnsammonreomsesieiasripa s istetadainn is caused when gases in the atmosphere behave as a
blanket and trap radiation which is then reradiated to the Earth.

THE) oo s i e is the measurable, observable or felt improvement in health
which is not attributable to treatment.

We look fOrward 10 & VENY ......ccoeceeieemsissinimismsmsisssssasssss s ssmsenmsss s that will increase sales and

marketing opportunities for our two businesses.

Ilﬂ:\ll the sentences below describe a cause and effect relationship. This time the prepositions have
been given, but the accompanying words have been deleted.

2

@Loukupthefuncﬂom’mmiﬂgofoneﬂmfoﬂwingwordslnamomlmgualdictimmyandbe

vitamin and mineral defiCiencies Can ..........oocvmeeermsnnins to weak bones, loss of teeth, blindness,
or the failure of any of a number of vital organs.

Severe malnutrition in young people usually ... in early and irreversible brain
damage.

All his current health problems .............c.cccuesusssssssersenssnss from his smoking and drinking habits.
The damage to his liver was the ... of many years of heavy
drinking.

Korsakoff's syndrome is a common neurological disorder ... with chronic
alcohol abuse.

Cirrhosis of the liver is only one damaging condition that can be ... hy alcohol
abuse.

Over time, heavy drinking can give ...........coessisssreissconnss to cognitive impairment (also known as
alcoholic dementia).

A hangover is the result of dehydration, paradoxically ..........ooecvicriumiiinnne: about by drinking too
much.

prepared to explain this to other students, giving contextualised examples.
respect respectively irrespective of respectfully with respect to

@ Use the following representational words to complete the sentences below.

analogous represents symbolic sign simile

1 Many people view the media’s preoccupation with celebrity and stardom a5 @ ....oeeeeneenennnsisinn
of the times.

2 Most of the activity of the computer is not visible on the screen; this is —..........coummnesiersssiren:
to Freud's idea of the unconscious mind.

3 Jung, the Swiss psychologist, argued that dreams are expressed thrOUB w...cooovceevvrresserssesssssssnns
language.

4 Like @ MEtaphor, @ .........cccoooveceuieneennnnns 15 @ figurative comparison between two things except that
it uses ‘like’ or ‘as’ in the comparison.

5 In the Egyptian Ankh, the circle ..o eternal life.

L“‘_] Speaking Activity

Discussion topic:
should people who want to adopt a child be married?

spend time deciding your own views on this before presenting them to the class. When presenting what you
think, remember to support your ideas with reasons.

[15. Writing Task
Write a short persuasive essay on the following topic:

Why tobacco advertising should be made illegal.

You might wish to consider the health effects of smoking on smokers and on non-smokers, the cost to
individuals and to society, and the influence on children.

You should write between 250 and 300 words.
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6 Words of ( mmmu

l | Put the following words into two groups according to degree of certainty. Then discuss your reasons
 for grouping them with a partaer.
accurate  reliable  tentative provisional untenable  positive  undeniable
alleged  certain irrefutable  well-documented solid hard definite

IE_J Now match each group of collocates on the left with one of the words on the right.

[I [ urta‘tain(-ﬁntenable,_e:dreme, official _| A fact —l
|2 accurate, long-term, reliable, gloomy ‘ B conclusion '

3 undeniable, irrefutable, plain, well-documented C position ‘

4 flimsy, hard, scientific, insubstantial . D results

5 logical, obvious, tentative, inescapable E evidence |
6 unexpected, inconsistent, positive, controversial | F_forecast - _Jl

[3.] Fill each of the spaces in the sentences below with one of the collocations in the table above.
1 lRisan .oe .. that the sun rises in the East.
2 With the use u1’ satellntes and cnmputers, meteorologists are able to give fairly
i e nowadaw,rs
3 The researchers were only able S~ L R AR e T T

preliminary studies.
4 The economic changes that took place during the 1930s left many people in a financially

..........................................................

5 Increasi ng the amount of li ght and reducmg the amount of water used in the experiment produced

..........................

[ﬂ Match the collocations on the right with those of similar meaning on the left.

1 |<{ vague recollection A positive relationship

2 definite plan B hazy memory

3 | | good rapport C well-defined objective

4 | | unambiguous statement D good chance

5 || firm conviction E unshakeable belief

6 distinct possibility F strong association

7 unexpected results G categorical reply
Ii,— positive correlation ~H_surprising outcome

5. Fill each of the spaces in the following sentences with one of these phrases.

vague recollection definite plan good rapport unambiguous statement

firm conviction distinct possibility unexpected results positive correlation

1 1t was his .o ... that, in essence, all religions are divinely inspired.

2 Now aged over 100, John had 0nly @ .o of his experiences as a
soldier during the First World War.

3 He approached the management With @ ... it for building the wool
processing machines in New Zealand.

4 The study found a............... e e between the use of mobile phones and
brain damage.

H Fill each of the spaces in the following sentences with one of these phrases.

positive relationsbip bazy memory well-defined objective  good chance

unsbakeable belief strong association categorical reply surprising outcome

1 Thereisa.. .. that I'll meet up with her in Rome next month.

2 One of the quahtles nf a good teacher is the ablhty 1o establish a .
o .. with students.

3 The Mlmster declmed to give a . ereeereeerseaseeenens SAYINg that a decision on the

matter could only be taken after further dlscussmns
4 Commentators at the time noted that the persecution of the early church by the Roman authorities
BB 8 woovveereesssss e cesresssssermsmsmmssssssssssssssensnsess § it @Ctuially increased the number of members.

(7] Match each group of collocates on the right with one of the words on the left.

1 valid A prospect, goal, expectation

2 | | authentic B passport, argument, licence

3| | precise C cuisine, atmosphere, look

4 | | appropriate D details, measurements, instructions
I5 : realistic E friend, article, attempt

6 accurate F box, behaviour, technology

|7 [ ] genuine G clock, diagnosis, record

ﬁ_ Flnmhohheqmmmﬂnsummbehwﬁth:suiuhkphme&omlh:mﬂnmﬁomymm

1 HE WAS 8 voovoooooosoeoeereeeereessresssssassnssssnnes 10 students and this was expressed through his words

and his actions.
2 A logically correct argument is also known as a .
3 o s necessary to correct the cause of lhe probha-m
4 The souvenir ¢ Roman coins are e made from bronze giving them a very .. v o ey dessanaraa

=



5 New instruments have allowed astronomers 10 MAKE .. of
the sun’'s corona.
6 When Peter Brown began working at GEC, he had a oo that
his employment there would be a “job for life".
7 Please tick the ... eveericinnn et rssencaens below and follow the instructions carefully.
@ Decide what the differences are between text A and B below. Discuss these differences with your

partner. Which text do you think is the most acceptable? Why?

A Cities in developing countries suffer from high ozone levels. Emission levels will climb in years ahead as the
vehicle populations in cities continue to rise. Moreover, these cities are located in hot and sunny climates that
favour ozone formation. As a result, the smog problem will increase in severity in developing countries in future.

The health effects of ozone are varied and severe. Because it is a reactive oxidising agent, ozone attacks cells and
breaks down biological tissue. It is particularly damaging to lung tissue, cven at low concentrations.

B Cities in many developing countries suffer from high ozone levels. Emission levels are expected to climb in years
ahead as the vehicle populations in cities continue to rise. Moreover, many of these cities are located in hot and
sunny climates that favour ozone formation. As a result, the smog problem is likely to increase in severity in
developing countries in future.

The health effects of ozone are varied and severe. Because it is a reactive oxidising agent, ozone tends to aftack
cells and break down biological tissue. It can be particularly damaging to lung tissue, even at low concentrations.

. Use of Hedging Devices

| Hedging words and phrases allow us to make claims about the world without having precise or

{ complete knowledge about it, or without needing to go into precise and complete defail.
————=n

@Fﬂthegupsmthesenumesbdwmlhmhahkhcdm.mcﬁmkmdmhmdhn
given.

1 Photochemical smog is a widespread problem in m.......... cities, especially in Europe, Japan and
North America, where precursor molecules are o....... abundant and ambient summer
temperatures f................ exceed WHO exposure levels for hours and s............... days at a time.

2 In industrialised colintries, emission sources of nitrogen oxides are r.......... evenly divided
between vehicles and stationery sources such as power stations and industrial boilers, although
vehicle emissions u.......... predominate in urban environments.

3 Despite the mounting evidence that indoor pollution is a major cause of ill health, exposure to
indoor pollutants is I.......... unregulated.

4 In terms of human exposure to NO, indoor sources such as unvented heating and cooking may
even be more serious than outside sources, especially in developing countries.

5 NO, is a respiratory irritant and C........ cause constriction of airways, reduced resistance to
infection, and hypersensitivity to dust and pollen.

6 Even in industrialised nations the health consequences of indoor air pollution are t............. to be
significant.
7 NO; from kerosene heaters t.......... to cause respiratory problems in young children.

=38

|_1_1_.1thn we write formal English, we may prefer to be approximate rather than exact. Put the
following "approximators’ in order according to magnitude.

1 the vast majority of +all  eg. almostall ]
2 asmall number of l
3  most of |
14 afew
LE very few -none e almost none J

Wchofthcwmﬂsmdphrmabmemonlybeusedudthunmmable nouns, which can only
be used with countable nouns, and which can be used with both?

[12] Verb phrases can be used to introduce degrees of certainty or uncertainty. Reorder the following
modal phrases according to degree of certainty.

1 might possibly + certain

2 s likely to

3 will very probably | |
4 is expected to ] |
5 is almost certain to - uncertain ‘|

}Emﬁwwﬁhmmﬂmemmmmﬂwtmmmmcfwms'smm’
according to the degree of certainty of the speaker/writer. '

|1 There's no doubt that + certain
2 Research has shown that
3 New evidence suggests that
4 There is now widespread agreement that - uncertain
5 It has been claimed that

Nuwhokntheﬁyﬂwingmtmesandsuggeﬂhwﬁqnﬁgmbcmadcmmuumﬁmmcreh
more than one way.

1 The world's population will increase to 9 billion by 2025.

2 Other people’s tobacco smoke causes cancer in non-smokers.

FT—— et T TSR DR TR R e L Lt
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3 The universe is 12 billion years old.

15.] Speaking Activity

In pairs, first briefly discuss the statements below using expressions such as:

There's no question that .....

It is almost certain that there is/ there is not ......
It is probable that ......

It is possible that ......

a) There will be a world government before the end of the century.
b) The climate is going to become warmer.

¢) There is life after death.

dy People can sense when other people are looking at them.

€) One day people will live on the moon.

f) Life exists elsewhere in the universe.

Decide with your partner which of the statements is the most and which the least likely to occur.
Exchange your ideas with the rest of the class, giving reasons to support your opinion.

16 Writing Task

Write a short essay with the following title:
The world in the year 3000
You should write about 250 words.

Il Look at the collocations below. Can you identify the least likely collocation in each set?

1 5lgnl.ﬁcant ::hange stable change o

climate change gradual change

| 2 technical mnd|fic.at|on historical modification

temporary modification  minor modification
3 _tctg_t;rs_fo_rmanon political transformation  dental transf_orpn'laptm complete lran;ft;l:rr_'-atmnﬂ
|4 industrial revolution  social revolution political revolution _bimu't;m _____
| 5 sodal reform technical reform _ electoral reform institutional reform
6  chemical reaction comp_l;ter reaction strong reaction _p_uiml; reaction
7 ethnic process "~ nudlear process industrial process damaaﬁc-ﬁmess

1
|
|

. .
|

'2.] Match the noun phrases on the left most likely to be associated with the type of development listed

on the right.
1 [ [ welfare state A linguistic development
| 2| | GPS (global positioning system) B cultural development
| 3| | electoral reform C social development
4 | | MBA (Master of Business Admin.) D technological development
| 5| | financial infrastructure E political development
6 | | adolescence F intellectual development
7 abstract concepts G economic development
| 8| | film production H professional development
| 9| | on-ine learning I physical development
0 complex sentences ) educational development

a) Choose from the following set of words and phrases those that you think best describe what
happened during the years and decades indicated in the figure below.

remain level  steady increase  low point

peak  rise dramatically  fall sharply

204

104

-

1945 1950 1955 1960 1965 1970

1975 1980 1985 1990 1995 _ 2000

Figure 1. Global ferralite production 1945 - 2000 (millions of tonnes)
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b) Now make sentences describing production for the following dates and periods.

1950
1960 - 1965
1965
1965 - 1970
1980 - 1985

.............................................................
..................

oW o e =

l__-ﬂ The process of development

a) Read the short text below.

Sheeten (972) saw the process of development in terms of progress in a number ot interelated
dimersions (1) economic output and incomes, 2) cenditions of production, B3] levels of living .rnndudhg
nutrition, housing, hedith and education), (@ attitudes to work, 6) institutions and ) policies.

b) Now, once you feel that you have understood what Streeten was saying, fill in the gaps in the t

below using the following words.

progress growth major deteriorated risen reduced
nmaummmmmwamumn ...................................... Itis
conceivable that in a particular country average GNP per capita might have 2) sseey While at
mmﬂmlmmmnqunﬁwhunﬂd:lhombmm.ardma)m ....................................
was made in other areas of development, such as in health, education and in political institutions Such a simation
MMMummmmmmmwmmmw
m&uwﬂkruﬂifefwﬂmmdupopuhﬁmmﬂdhawl} ..................................... . Conversely, it is
mmnmmmtmmmmmmmmmw) ....................................

mmmmma.mmmmmwmmmmmwm
redistribution), which creates conditions for future development, but at a short-run cost of
) i GNP due to disruption of the previous production and distribution system.

E:i a) Can you find any words below that have a broadly similar meaning?
conservative radical innovative liberal
old-fashioned  lefi-wing progressive reactionary

b) Now use the words to fill the gaps in the following sentences. Use one pair of words for each
pair of sentences.

1 2 Heheld @ Very .ooooooccovcovcnmnnssssmssnsmssssssmsssssssssssssassseneess VieW OF society; one organised aroul
traditional values and beliefs.
b The most ....cornen srrsessnnnes Change to global communications has been t

development of the internet.

L

2 ¢ The project seeks a balance between criticisms of existing systems and proposals for
.................. rerersneresiassesninns. developments which respond to changing conditions in the world.
d Many peaple blame ........covmmmserrsmsensnssssenennns attitudes for the increase in crime and family
breakdown. '
3 e In the 1930s violent clashes broke out in London BEtWeen ...
demonstrators and right-wing Fascist groups.
f The modern education system aims, make the ..o class structure
irrelevant.
4 g The opposition party used all of the most ... arguments that could
be found to oppose the reforms.
h The introduction of on-line learning is one of the MOre ... features
of the course.

@ Working within one box at a time, match the verbs in the boxes on the left with their most likely
collocates on the right.

| 1 [ | upgrade i A law 10 qualify ) text

2 '_. reform | B computer 1n | refurbish K premises
(3| | improve | C performance 12| | translate L argument
[4 5 transform D system 13 shape M instrument

5 i_ overhaul | E regime | 14| | renovate N idea

6 | | overthrow | F voltage | 15| | calibrate O property
_?__}r convert G volume 16| | alter " P situation
8 L— adjust H factory 17| | adaptto Q jacket

9 | | modify I theory 18| | revise R strategy

Now use the verbs to fill the gaps in the following sentences.

1 Croll's original theory, which proposed that changes in the earth's orbit caused ice ages, was later
SN—— " (e R ek
2 He..

rereersesisssesssssesessesnnness IS @rgument by adding that the activity should not be permissible
in all situations.
3 Laws on profit taxation, individual income tax and property tax Were ........ceiemiecmisisisine,
_during the last Parliament.
4 The €Il ..veverrrreeeeeensscssssasneenenenes the low-voltage current to a much higher voltage — possibly

30,000 volts or more.
5 The government's transport strategy Will be .........cc.cc..ccoccoeeennenn.. in the light of the latest findings.
6 The temperature, pressure and flow rate are also noted when the instrument is

..........................................



E Fiumcgapshﬂncfuﬂnwingsemmcmwﬂhoneoﬂhﬂhmwurdswhkhfuuwthem

1 If you have any questions about this website, or find any ............ een s TR information,
please contact us.
a out of date b old-fashioned ¢ ancient

2 Among the signs of dissatisfaction at work are: decreased productivity,
patterns of work, and poor on-the-job relationships.

a volatile b inconsistent ¢ flexible

i TV O ——— music is more complex than popular music.
a modern b dassical ¢ contemporary

4 The new eye treatment iNVOIVES USING .ooovunnicnieiiinins .. technology.
a simultaneous b contemporary c stateof the-art

5 The forecast is for . .. weather for the next few days.
a transforming I:- changeabie ¢ shifting

9.] Fill the gaps in the following sentences with one of the three words which follow them.

1 The character of Macheth i @ ......c...ccouuusssunssssreerrnee €Xample of a Shakespearean tragic hero.
a classic b old ¢ well-worn

2 The new UN publication contains the ............... ; .. information on living standards.
a actual b contemporary c latest

3 In most .. ....... societies, women spend much of their time at home - cookin,

making cluthmg and carmg for children and the elderly.

a orthodox b old-fashioned ¢ traditional

4 The problems facing the ..............occccocecesssssisnnrs WOl include environmental vulnerability
increasing social complexity.
a advanced b modern ¢ recent

5 Because of the ...ceemmeinevssniins . situation on the streets of the capital, the governme
imposed martial law.
a stable b changeable ¢ volatile

Discuss when and how you might use the following idiomatic phrases.

a watersbed in bistory
go pear-shaped

a magor turning point turn over a new leaf

change one's tune

ﬁ_ﬂuamhthep]lrasesonthelcﬂndththoseuntheﬂghtmmtcmortcomplucommonlyused

phrases.
"1 | [ has changed notably A also become greater
2 B both of these B drier and warmer
3 N the intensity of rainstorms has C over the past century
‘ 4| | and in areas that become D changes have significant implications |

[12] Now put the phrases that you have matched above into the spaces in the text below.

Global dlimate 1] ... R LN RTINS 08 , and this change is expacted io
continue in the huture. As glebal cnd regmnai temperatures have risen, o more vigorous hydrologic cycle is now eviden!
in many parts of the world. On average, gla-bal precipitation is increasing and in many places 2) ..

i bt e S T e e L .. However, some regions of the world hmebeoome dnet
3] . for patiems of vegetotion growth and
both wmd und waler mduced erasion. A.s sform events increase in |r1!en5|‘ry clnd in frequency, rates of runolf, scil ercsion

and nutrient less also increase, 4] . ., Sparser
vegelofion cover means that the scul is more vu|nEﬂ:|He o wmd BrOsion,
113 Speaking Activity

Discussing changes

a) List what you think are the three most significant changes that people in your country have experienced
in the last 100 years.

b) When you have done this, compare your list with that of another student, and together decide on a new
list. '

¢) Be prepared to defend your list using well-supported arguments, but also make sure you listen to the
arguments of your partner.

d) Then join another pair of students and compare the new lists. In this larger group, try to come up with
a list that you can all agree on.

€} Once again defend your list using well-supported arguments, but also make sure that you listen to the
arguments of others.

f) Finally, you can compare your group lists with those of other groups in the class.
[14] Writing Task

Write a short account of the changes you discussed above. Use the title:

The most significant cbanges in people’s lives over the last bundred years

You should write between 250 and 300 words.
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8 Words (':lf Structure

— ()

'1.] Put the following words into two groups according to the type of structure they refer to. Then
" discuss your reasons for grouping them with a partner.

blueprint
organisation

network
structure

mould
model

infrastructure
set

[framework

procedure

diagram
pattern

' 2.] Match each group of collocates on the left with one of the words on the right.

8
(2
|3

‘L
5

infrastructure

| clear, detailed, rough, illustrative A ‘
| balanced, conceptual, loose, tight | B network
_3 basic, economic, country’s, reliable C diagram |
| extensive, local, family, complex D organisation J
| effective, massive, non-governmental, broad-based E framework

above, match each group of collocates on the left with the noun on the right.

!.1 |

2
3
4

s []

set

! cHanging, shifting, familiar, underlying A j

| basic, complicated, costly, simple B structure :i
;“ complete, a whole new, particular, duplicate C model |
| latest, theoretical, super, working D pattern i
social, formal, stable, intricate E procedure B |

@Nuwuscthaewmﬂstﬁllmthegapsinthefoﬂwngummm.

diagram

framework infrastructure network organisation

The World Bank will need to lend money to governments who have to create a modern
of health centres, roads and railways.

........... T TTTTT PP RTET AR

TRIS oooooosooooosoessseereseeesesseneseenee. ShOws the weekly earnings of graduates as opposed to non-
graduates. .
The government has promised more money for a whole ......mcinnen: Fetimis o
community services such as health, crime prevention, housing, social security and the arts.
Those traditional and often hierarchical patterns of soCial ... do not
use technology efficiently. ‘ .

The WHOME ..o isesnssrsrsemssssscisissssissmiases of society is based upon ideas of equality and freedom.

'5. | Now use the words to fill in the gaps in the following sentences.

paitern

2 The

E

procedure set model
This report suggested the abolition of the old local government

its complete replacement with a new one.

...............................................

.............................................

of two parents and two children.
My research involves the development of a theoretical
breakdown of food and drug molecules in humans.
Relief organisations have a clear
and hurricanes.

These tasks may present a particular

...............................................

Now match the following words with their definitions in the right hand box.

of family structure has shifted away from the older, stable model
............................................... to predict the
for disasters such as earthquakes

of difficulties for any language learner.

1 blueprint A the basic structure or facilities on which an organisation, country or
system is built and which makes it work

2 constitution B a drawing which represents a machine, system or idea to show how
it works

3 diagram C a plan or design which shows how something might be achieved

|4 framework D a system of rules and principles by which a state or an organisation is

governed _

5 infrastructure | E supporting structure, often of facts and ideas, around which
something can be built '

ij’__._-}lnuka(m:ﬁ)lhwlngmble.uatchtthMCerdSwhilasuimblewordmphme&nmﬂm

other column,
1 | to create A constitution
2 a written B framework
3 the diagram C a blueprint
4 a conceptual D infrastructure
5 a basic E below shows

@Nawusethephnsesyuufnrmcdlnhﬂd&&?Mﬁ“lhepphthefuﬂwingsmtmm

1

They hope for the development of countries moving to the
free market.

Britain is unusual amongst European countries in not having ... i
how this part of the experiment works.

Liberal ideas in the social sciences are not enough to provide

cevenmnsnnnensmnensenennss 107 Understanding what actually happens in the family.

The university's results depend UPON ... which links what the
institution’s objectives are with good management undertaken by committed, experienced and
trained staff.
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9.] Now match the following words with their definitions in the left hand box.

1 network | A the accepted or normal way of doing things
2 organisation | B a set of decisions about how to do something in the future
3 pattern C the arrangement of something, so that its different parts link and work

a recognisable way in which something is done, organised or happens
a system of people, organisations, etc that connect and communicate

|
|
|
‘ : together
' with each other

noun [C
a iargl iystf_‘m consisting of many similar parts that are connected together to allow movement ar
| communication between or along the parts or between the parts and a control centre:
a television network
| a road]rail network
a computer network
Massive investment is needed to modernise the country’s telephone network.
| We could reduce our costs by developing a more efficient distribution network.
a network of spies/a spy network

network

verb
1 [T] to connect computers together so that they can share information:
Our computer system consists of about twenty personal computers networked to a powerful file-server.

2 [I] to meet penplr who might be useful to know, especially in your job:

1 don’t really enjoy these conferences, but they're a good opportumty to do some networking.
s it

Cambridge Advanced Learner’s Dictionary © Cambridge University Press, 2003 <dictionary.cambricige.org/>

@a] Look at the following table. Match the structure word with a suitable word or phrase from

other column.
Il a close-knit social A pattern
2 | | the organisation B network
3 | | old behaviour C as a whole
4| | agreed D procedure
a particular E aplan

R

b) Now use the phrases you formed in Exercise 10a to fill the gaps in the following sentences.

1 When speakers belong to . ; .» the more time they
spend speaking to the same gruup uf people and lhe Iess cnntai:t They have w:lh others who might
change their dialect.

2 Every manager has a responsibility towards ...

3 When children MOVE areas, .........c.covieiniiminsimsmissinssessisssesssssessnsen e seesasns is interrupted whlle
they adjust to their new neighbourhood, school, and shops.

4 A number of these countries have ... .. with the World Bank for the
reduction of their foreign debts.

5 A doctor can be disciplined if he decides to carry out
a way that can be shown to have been unnecessarily hazardous to one of his or her patients,

@Malchlhtphrmmtheleﬂwiththmemtbeﬁgmmmakemmmmpluphm.

A for growth and poverty-reduction

B in the economy

C the development policy debate

D that the best route to problem-solving

it is now recognised

at the heart of

offered a universal blueprint
structural changes

da W e =

@quseﬂlephmesyoufameﬂabowmmmpletethﬂmbdw.

In recent years, there has been a sngnrﬁcant move away from the belief that market liberalization and
Western-style democracy 1) ..
across the world.

Central to the arnargng alternative view are a number of ideas that place civil* society 2) ..

. First, a strong social and rnshhmmai
lnfrastrucmro is crumi to grwrm and devulopment soclﬁ capllal a rich fabric of social networks,
norms and civic institutions - is now considered to be just as important as other forms of capital to these
ends.

Second, more democratic forms of governance and decision rnaking are seen to be more effective in
developing a social consensus about 3) .. ... and
other key reforms: shared ownership of lhe dsvsbprlmﬂ agenda is seen asthﬂ k&r to rm sustamabllrty

Third, public, private and civic roles are being redefined and re-shaped, in both economics and social
paolicy; 4) .. ... lies through
Paﬂnerahlps and alllannes batwean H'rese drﬂ‘aont |r|te|rast gmups

*civil/civic: in this short text the word civil refers to the wider community as opposed to developmaent agents from
govermnment, business or aid organisations
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_12 Look at the following.

introduction, body, conclusion = essay siructure

Now decide what kind of structures are indicated by the following groups of words.

1 Marketing, customer services, accounts, ;_mducnm, personrel =
week's advance: £20, Advance booking: £50, Day of travel: £110 = | ...

electrons, protons, neutrons =

nucleus, mitochondria, vacuoles, lysosomes, membrane =
Lecturer A, Lecturer B, Senior lecturer, Reader, Professor =
Hypothalamus, cerebellum, medulla oblongata =

Upper class, middle class, working class, underclass =
110 HyO and HyS0, =

n Petals, stigma, anther, stamen =

[ 12 Roof, foundations, supports, trusses, walls =

LT- T - - T - L I

13 Setting, characters, plot, climax, conclusion =

14 Id (primitive), Ego (decision-making), Superego (moral component) =| ..........
15 Roads, railways, schools, haspitals, sewers, power supply =

platoon, company, battalion, division, corps = B
subject, verb, object, compliment, adverbial = R ——————

(14, a) Match the verbs on the left with the phrases on the right. Only match within each set of boxes.

1| comeupwith | A the constellation | |4 | [ establish D anew model
| break B asetofideas | |5 | | follow E anetwork
identify C the rules | |6 bring out F a procedure

) Now use the phrases you formed to complete the following sentences.

1 Architects, designers and planners spoke with more than 4,000 school children and adults to
that reflected what the community would like

2 We .

3 As part of the new marketing strategy, the company will .
early next year.
4 The aid agency plans to .

rehabilitation centres that w|1l pmwde quahty treatment and rehabmtatlon services.

the Southern Cross emerged dlamond like in the ]et biack Qky

... Orion and then Crux -

.. of 17 drug treatment and

Es‘ Speaking Activity
Decide on three important changes that you think would make the world a better place.

1) When you have done this compare your list with that of another student, and together decide on a
new list.

b) Be prepared to defend your list using well-supported arguments, but also make sure you listen to the
arguments of your partner.

¢) Then join another pair of students and compare the new lists. In this larger group, try to come up
with a list that you can all agree on.

d) Once again defend your list using well-supported arguments, but also make sure that you listen to the
arguments of others,

¢) Finally, you can compare your group lists with those of other groups in the class.

[16.| Writing Task
Write a short essay entitled.

Blueprint for a better world

You should write between 250 and 300 words.
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—_| Look at the collocations below. Can you identify the least likely collocation in each set?

l first class 4 second division 7 piece of evidence i
economy class armoured division piece of research |
newspaper class planning division piece of light '
working class flower division piece of music i
evening class junior division piece of paper

2 sales department 5 metal fragment 8 knowledge section

| physics department computer fragment cross section
planning department clay fragment caesarean section
mind department ancient fragment reference section

! government department tiny fragment introductory section

'3 water particle 6 electronic component
sub-atomic particle essential component
airborne particle faulty component
minute particle book component
microscopic particle engine component

2.] Now put one of the collocations from each group above in the sentences below.
1 After the explosion, he was taken to hospital with NUMEROUS ...
the lower part of his body.
of overall

2 The government views mental health as an .
health policy and offers comprehensive mental health services,

3 Some researchers believe interior furnishings may play a role in . ..o

levels, thus giving rise to asthma.
4 Please contact our .

5 Fig 3. shows the magnlf ed of a leaf.

... for any product inquiries you may have.

6 When scientists ask whether o R N is valid they are asking whether

it is really measuring what it claims to measure.
7 In 1999 City finished third in the ..
placing, but still managed to win promctlon o Division 1.

.., their worst ever league

B8 He was bom int0 @ . sersesniens family and environment that was to influence

much of his later work.

[3.] Look at the following verbs and then group them under the general headings below.

split classify amss collate compose analyse collect
accumulate carve up synibesise divide compile assemble
‘break down’ (into parts) ‘bring together’

Are there any words which could fall under both headings? ...,

in §

|—4 See if you can match the words on the left with those in the column on the right. Only match

~ words within the same pair of boxes.
_I_:_ split A chemical _ﬂ. 7| | amass o G syrnphmy“i
2 | | synthesise B stamps 8| | analyse H problem |
3 collect C groups | 9 | | compose I fortune |
[a] | classify | D dictionary 10&_ collate J information |
{5 | | assemble | E data 11, | accumulate K empire |
16 | compile F rocks 12] | carve up L dust

Usetheverbsbeluwtommplelcthcscmcnmonlheﬁght.\’wyhﬂetochmgelhtformnf
the verbs to make them fit.

1 divide into
2 carve up

3 disintegrate

4 analyse

5 decompose
6 classify

A During World War |, Britain and France reached a secret deal to
” .. the Middle East.
B 5treak|ng thrnugh the atmosphere at 18 times the speed of sound, the
space craft .. St e e
scheduled Iandmg
C As the wood ..
be released mto the sml where plant foots can absorb them.
D At the end of the course you will have learnt how to organise, describe,
... and interpret your data.
E Rocks can be s ...... according to their origin.
F Under the nght condnmns, the two cells may
........................ four in 20 minutes.

.. about 15 minutes before its |

... fully, these nutrients will |

UsetheverbsbelnwtocumplctcthesmtcmmtheﬂghLYoumathemchangethcformuf

the verbs to make them fit.

1 compile A They are made of three interconnecting pieces that can easily be
.......................................... by one or two people in about a minute.

2 assemble B The drug was first ... in 1912 by a German
company- posslbl'y to be used to control people s appetites.

3 synthesise C Below we have .. e . a list of the mast Frequently
Asked Questlons.

4 draw together | D The oceanic crust is uniformly ...........cmimninnisinnnisn, OF rOCKS
having a basaltic cnmposmon

5 compose E . - . means not only collecting information
mgether but also orgamzmg |t

6 collate F Finally, the conclusion will . ... the main

points of the argument or discussion.




Fﬂ Look at the words in the grid below. Indicate where you think the adjectives and the nouns form @ Can you suggest in what situations the following idiomatic expressions might be used?

strong collocations. Some have been done for you. rolled into one kill two birds with one stone they're of one mind
g}- - gatber your thoughts pull yourself together piece of the puzzle
X ¢ §F § o
s Fff s § 84
£ & & & &£ 5 §F 5§ § ¢
[ federal x J 2 T e [11] Concordance study
joint i G How many differences can you identify between the uses of consist, comprise and compose by
integrated o studying the concordances below.
interconnected X | o
] J f — Natural uranium consists mainly of two types of atoms ...
unified The park consists of 400 acres of ancient oak trees ...
concerted This fishery consists of a three acre coarse pool.
complete . ' The diet consists of two phases: (1) Monday to ...
.. the universe, most of which consists of near-empty space.
The treatment consists of a special protective spray.
Fill in each of the gaps below with a suitable phrase from the collocations you have matched above Tk il ks it o faul:e\:arsﬁips s .ﬁﬁ; :
1 The farmknf government in which both the national guvernment and the state government shar o '!}I:::d p:(;::;:: Eumnz:::: gfmﬁr;‘jﬁtﬁxk o
% m:sedmw:: :Sa I n 1BM and Sun Microsystems. i The course consists of a 3-hour afternoon session (13.00-16.00).
3 The Perth Bicycle Scheme isan. .. of on-and off-road facilities for bicycles,
4 As citizens of an increasingly ...................coc oo, We are all affected by global events Engineers now comprise 31.7 per cent of membership.
5 The.. i ... attempts to explain all the major forces (magnetism, gravity, The squad will eventually comprise 20 players.
weak and si;rong nuclear forces} in such a way as to show they are really extensions of the sa Blacks are expected to comprise 35 to 45 percent of the Democratic ...
phenomenon. The exhibition comprises 50 oils and watercolours.
s e e e e is needed to address the causes and consequences of global poverty Women now comprise 45% of the medical staff.
7 The leaders of the two countries are in it e . on the objectives ... three of the six buildings that comprise the site are: ...
achieving peace and security. The national assembly will comprise 400 members, all elected by ...
The course comprises coursework (nine months for MSc and
A pride comprises two adult males and seven adult females
Ej Look at the following. Caiada com;rises 10 provinces and two territories.
brain = part of .......... the nervous system
Now decide which system the words in the left hand column relate to. This committee was composed of selected villagers and ...
The remainder of the team was composed of pupils who have come through ...
component/part/aspect system .- o Buddhism everything is composed of the five aggregates.
... which is composed of 50 or so wines from many countries.
1 roads The Supreme Court was composed of two judges who were the only ...
2 courts The remaining 8 per cent is composed mainly of women who are housewives.
3 antibodies ... average-sized protein composed of hundreds of units of amino acids.
4 primary schools - More complex environments composed of other sets of meanings.
5 Jupiter He is said to have composed this work in 24 days.
& rafisions She lit a cigarette and composed herself.
7 local polling station
8 prisons
9 the stock market
10 Christianity 5
12 burglaralamn ™ =000 [ hssssssasnsassisssisissessimsmesbiniees sssisesies
(I CORMIMEIE ' 0000 ] csiceeaesmsemmisimiiis
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'—lﬂ Choose words from the column on the left to complete the sentences on the right. You may have to b
change the form of the words to make them fit (add s, d, ed).

1 fracture A He hesitated for a . & ... of a second before responding. i‘
B After the fight he was taken to hos.pnal ™1 T Tt e wrist. |
2 faction
| C Over time, religions tend t0 DECOME ........ceiciriiinininimi s
! 3 fraction into different groups or sects.
- D The two WarFiNG ...cccuemmrmmrmmmmnnmisssississsnssiass agreed to a ceasefire after the |
|4 fragment e |
initiative from the UN. i
5 factor E A balanced diet is an important ........cooviniiians in maintaining good health. ‘

[13]a) Lok at the following verbs and adjectives and group them under the general headings given to

create four synonymous groupings.
verbs:  omit embrace encompass debar marginalise cover
[ include : exclude
.................................................... i
adjectives: inberent alien implicit inessential integral extraneous
intrinsic 3 extrinsic

....................................................

....................................................

b) Now use the words below to complete the sentences on the right. You may have to change

form of the words to make them fit.
1 encompass | A When people are first exposed 10 an ......oorvresivimsiensisssannssiissis culture or
environment they may expenenue culture shock.
2 marginal B Tryingto . .. the idea of modern India in one short

book is an amb:tlous undenaklng |
C The poorest members of society are often blamed for many social problems

* that society faces and have been .. T hy the malorlty
: D A good analysis will bring to light a.nd make exphcn what is .
4 alien in the text.
E Well, that ......ccenunvecas PN S all the main points. Now, I'm going to
5 integral hand over to Dr Smith, who is going to talk about assessment,
F Advertising is an ............ R, A part of the corporate expansion of
6 implicit the tobacco industry.

14| Classifying
Use the words and phrases below to complete the following text.
on the basis into category class can be sub-divided
Functions of Food
(1 . .. of the functions they perform, foods may be divided
{2 .. — .. bwo main classes the work class, and the maintenance class. The former, which

prowdes body warmth and energy, (3) . .. sub-divided into fats and carbohydrates.
The latter are mostly starches and sugars. An |mpor|ant dffferenr:e between fats and carbohydrates lies in the
fact that fats are highly concentrated heat-energy carriers; they have a heat value of 9.3 calories per gram as
against only 4.1 for carbohydrates,

The maintenance (#) .........oweees
bones, tissues, and muscles —
0 | R e —

.. provides the necessary substances to keep the body — its
|nrepalra.ndtupruwdeforglwh Proteins form the basis of this class and can
.., on the basis of origin, into animal and vegetable proteins.

A third (8) «.cceecrcverivasrmacsisasesssssnnnnss 15 the food accessories, which constitute a very small but very vital part
of the diet. This class consists of the minerals, including micronutrients such as cobalt, manganese, and

copper, and the vitamins. Both vitamins and minerals have a protective function.

[15] Speaking Activity
Allocating donations

) Work in groups of three or four.

h) Make a list of seven or eight well known charities.

¢) Come to an agreement on how you would allocate $10,000 between these charities.
d) Support your decisions on how you divide the money with reasons.

[16] Writing Task
Write a short text classifying one of the following: the types of school, the kinds of television programme, the
forms of music o the different forms of communication employed in your country. Try to use some of the
language used in the text above, e.g. on the basis of

You should write between 250 and 300 words.
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| a) Effect of protein-energy interaction with reference to immune function and response to disease. l
b) Throughout this paper, the term education is used to refer to informal systems as well as formal
systems.

¢) Along with their CV, applicants should submit a covering letter, and the names and contact details
of three reliable referees.

) Anyone with diabetes who is under the care of a doctor in the Manchester area is eligible for referral
i to the Diabetes Resource Centre.

| &) A seli-referential sentence is one which refers to its own structure and function.

refer to sb/sth (DESCRIBE) phrasal verb

1 1o talk or write about someone or something, especially briefly:
In her autobiography she occasionally refers to her unhappy schooldays.
He always refers to the house as his ‘refuge’

-—

|2 1f writing or information refers to someone or something, it relates to that person or thing:
The new salary scale only refers to company managers and directors.
 mem—— e}

Cambridge Advanced Learner’s Dictionary © Cambridge Liniversity Press, 2003 <dictionary. cambriclge.orgl>

;ﬂmhmgmmmmmmtmamm.mmmmmm
" length of text they refer to.

section treatise

chapter

paper excerpt passage term

Now use these words to fill the gaps in the following sentences.

1 The.. o is from the introduction to the book and thus gives a general overview of

the content. ) .
b I |- J—— is commonly used to refer specifically to the breakdown of food and its

transformation into energy. . .
3 Conclusions and recommendations resulting from the work should be discussed together in the

final ..oveeierenernssisesarens. 0f the article.
You've got to wait until the final ... to discover who committed the murder.

5 Ibn al- Haytham’s Kitab al-Manazir, which was translated into Latin by Witelo in 1270, was the first
COMPreNensive ........couunmrsneeesns on the science of optics.
6 Professor Smith's ...ocooomnnrininians was well received and generated a tremendous amount of

discussion during the conference.

| 2.| Motivation in Learning
~ Match the two parts of the sentences in the table below.
1 The term intrinsic
motivation | intensity, and persistence of voluntary behaviour.
2 Motivation | | B the desire for some form of internal growth or satisfaction;
| the desire to learn because you are interested, curious, or

A the forces within a person that affect his or her direction,

refers to | enjoy the material,
3 The term instrumental | € the desire to communicate with or assimilate with a new
motivation community.
4 The term integrative D the desire to achieve an external goal, such as getting and |
motivation keeping a job, career success, or greater pay.

Bj Verbs used to refer to what others have said or written
Try to match the verbs on the left with the meanings on the right.

|

I | Argue A to draw someone’s attention to a fact or a mistake I
12| | Mention B to refer briefly to something or somebody, in spoken or written text -
|3 | | Conclude C to say that something is true or correct and give reasons for this ,
4 J_ Paint out D 1o decide that something is true using the facts you have as a basis

| 5 _; Show | E to hold certain views or opinions strongly even if other people disagree ‘
|6 Migistain F to discover or notice the existence of something |
5 1 NN G to give information about something which is clear and convincing to olherl'
= people -
'8 Identify H _to write or say something in a formal and certain way |

( o Use of Ile;;o_rt_ing'-\fer'lﬁs‘

| Reporting verbs are used to introduce paraphrases and summaries of other people’s ideas in writing,
S bt i =

a} Put the list of reporting verbs below into two groups: one group for simply describing an idea,
and the second group for giving an opinion about someone’s idea.

suggest  argue  claim identify  list conclude

mention  point out

b) Three of the words you have just discussed are given with each of the quotations below. Choose
one of the three to paraphrase or report the quotation. Where more than one choice is possible,
decide on the best. Use the present tense. The first is given as an example:

1 “Studying in an English speaking country seems to be one of the best methods of improving your
English language.” (Farrelly, 1989: 43).

a lists b suggests ¢ identifies

.
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2 “There are three reasons why the English language has become so dominant. These are: ...." (Maynard,
1993: 137). .
a mentions b lists ¢ claims

3 “Poor food, bad housing, inadequate hygiene and large families are the major causes of infant
mortality.” (Popper and Friedman, 1991: 77).

a mention b point out ¢ identify

4 ‘It is worth noting that gardening has always been an effective therapy for those with depressive

tendencies.” (Armani, 1983: 72).

a lists b concludes ¢ points out

5 “When the mother tongue is banned from the classroom, the teaching tends to lead to the alienation
of the students. This is because ......” (Sargnagel, 1993: 20).
a shows b argues ¢ identifies

E—r

6 “Curative medicine has ensured great health improvements in developed countries. mmﬂﬁs:
preventative medicine is far more cost effective, and therefore better adapted to the developing world.

{Carrow et al., 1990: 32).
a list b show

+

¢ conclude

B SLLL T LTI

7 “As a comparison, let me briefly refer to the great Persian poet Rumi. In the Ma'navi, ......" (Carter,
1981: 99).

a mentions b identifies € argues

8 “By analysing the colour of the eye, a range of illnesses can be diagnosed and treated." (Bastien, 1998:

67).

a mentions ¢ claims

b lists

R PP TE TE U EER R PR

15.]a) Think of three ways in which the verbs below differ from the reporting verbs that we have just

studied. Consider tense, sentence structure, meaning and collocation:

find examine review report study analyse survey

b) Now choose one of the verbs from the three given to complete the following sentences:

LR (L. ° e —— A that, as levels of literacy and education of the population in
an economy rise, population below the poverty line decreases.
a found b studied ¢ surveyed

T Harbison (1977} woussisisrssmemso i the differential impact of formal and non-formal types
of education on income distribution.
a analysed b found ¢ reviewed

3 Agarwal (1990) ...covveirrcerrieec v the data from 72 countries and concluded that there was

a strong correlation between HDI and economic development.
a examined b found ¢ reported

4 Thirty years later, Van den Bossche (1974) .......cccoovivcnninns
Albicans which were resistant to treatment.

veseneees three cases of Candida

a surveyed b reported ¢ found

5 Jencks (1989) ....ccceeevieivireriencnnnnene... the literature from the period and found little evidence for
this claim.
a reviewed b reported ¢ found

b Shaar (YO0, o o e e 250 undergraduate students using semi-structured
questionnaires.
a reviewed b examined ¢ surveyed

7 Kibbler et al. (1979) ....occeevrsvsssnssessiricsinnnsines the effects of Cytochrome P450 on unprotected
nerve cells.
a surveyed b found ¢ studied

[6.] General text nouns

Look at this text. Use one of these words to fill in the gaps in the passage: situation, circumstances

Many researchers depend on grants and are considered by the Government to be students, although they
have to pay taxes on their grants. Furthermore, because of the highly pyramidal structure of the scientific
career, young researchers have fewer and fewer opportunities as they proceed from one level to another. it
is not uncommon for their careers to be interrupted by long periods of time waiting for the next grant and, as
students, they have no unemployment insurance. The ........................ i @ven more discriminatory when
taking into account the small budget for research and the very reduced number of permanent positions
opened every year. Under these ................ce..coeeiminnsisennnnss, the scientific community suffers from continual
loss of members, who decide to pursue their scientific careers abroad or seek employment in other fields.

a Which ‘circumstances'?

b Which ‘situation'?

€ What is the grammatical difference between ‘situation’ and ‘circumstances'?
d What phrase does the word ‘circumstances’ occur in here?

In this text the function of the words ‘situation’ and ‘circumstances' is to refer back to words and ideas ®

that came earlier in the text. In such contexts these words are often ‘empty’ of meaning.

e
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[7.] Now do the same as Exercise 6 with the following texts, using these words,

‘ m!'aﬂ- event mfm

1 Some people in the village said it was a public disgrace that a maid like Martha Pascoe should be
traded for barrels of fish, but most saw the whole ...................... as a great joke. T
2 None the less, research has shown that a surprisingly large proportion of the popula '
only had an experience that could be callef;i r'EIiglous.:.tb:; that, for many, this ...
ir lives i uite im :
3 ;‘::s:ﬂ::ﬂ:trlz;: e:;-iié:'f;hmmmme q ....... asptc;:eatomadi that.struck St. Peter's on Sunday,
March 29, 1998 can cause a variety of different reactions and emotions.

a Which affair'?
b Which ‘experience'?
P ol f d ience’ mean here?
What do the words ‘affair, ‘event’ and ‘experien e _ )
:‘ Looi up the words in a good English monolingual dictionary. Do the definitions given explain
the meanings of the words as used in the texts?

[ﬁ._i Nowdnthesameasmm?nithmefnﬂowingtuts,nﬂngthesewrds.

thing topic G

1 He claims that he has never been envious or spread scandal, though evidently others behave in
| R e 3 _ :

2 Tl':csa authors, who appear to be well qualified to write on this ... , state that the book
is intended as an introduction to the concept of learning ad\‘rar?ced voca!bl{lary. o

3 The result of free radical damage to the cell membrane is similar to pricking a balloon fi

hose
water with a pin. The water leaks out and the same ................... OCCUIS to the cell w .

membrane is damaged from excessive free radicals.

a Which ‘way’?
b Which ‘tepic'?
¢ Which ‘thing'? 4 S
do the words ‘thing', ‘topic’ and ‘way ? . . ;
: :.”027‘(‘ up the words in angmd F'I;ngli*:,hl munt;lingual dictionary. Do the definitions given explain
the meanings of the words as used in the texts?

m Now look at this passage adapted from a piece of popular journalism in US College Hockey news.
What is ‘ice hockey'? In which parts of the world is it played’? .

Use the words ‘factor’, ‘incident’ and ‘matter’ to fill in the blanks.

An ice-hockey coach with the Wisconsin Badgers college hockey team had an argument with a 19-year-old player
at the team’s hotel after a loss at the University of North Dakota on Nov, 23, The player contends the first-year
coach became abusive and pushed him. The player originally took the blame for the 1) R g and
agreed to keep the 2) .. SREREEY private. But he spoke out this week, saying he doesn't want to take the
blame “while I'm being pushed out the door”. The player told a local newspaper: “I don't care if I play another
game this season. | was having difficulty playing. I wasn't comfortable playing. So playing was sometimes the last
thing [ wanted to do. The number of games | was playing was not a 3) ..oamiemasd® it's that T was isolated
from the team and got a negative feeling from being on the team.”

a Are there gaps which could be filled by either ‘matter’ or ‘incident’? Why do you think this is?
b Are there gaps where only one of the three words could fit?
€ What do the words ‘matter’, ‘incident’ and ‘factor’ mean here?

d Look up the words in a good English monolingual dictionary. Do the definitions given explain the
meanings of the words as used in the text?

110, Here is a further list of nouns. Look out for them in your reading, and take note of the jobs they
perform in the text you find them in.

act, action, aspect, case, context, effect, episode, experience, fact, factor, feature, issue, matter, method,
maove, phenomenon, position, possibility, practice, process, reason, respect, result, state, state of affairs,
subject, system ’

11, Speaking Activity
In groups of theee or four, discuss the qualities you feel an English teacher should possess and draw up a

Iistofﬂrﬁvcumimpoﬁantqmﬁdcs.?mcntyourﬁndhlgsmm rest of the class, giving reasons to justify
your choice.



|
12 | Writing Task
Write a job reference for someone you know well. Here are some words and phrases to help you.

adept good rapport insightful sbulzpmfve

adroit bighly motivated meticulous i {emgb

cooperative highly skilled natural authority tolerant {

creative ideal team member pem;;ab.l'e :m ,::J;ng
imaginative popular

?m Iﬁw quidet well-prepared

generous independent reliable

dependable team worker

reliable member of staff :

able to meet all the demands/all the necessary deadlines

imaginative problem solver

displays exceptional resourcefulness in new/unexpected situations
exbibits a good understanding of the process of ...
conversant with ****** software.

popular with colleagues
possesses good communications skills

You should write between 250 and 300 words.

—

| 1] Look at the collocations below. Can you identify the least likely collocation in each set? -

“Words of Government and Law ].J.

1 foreign policy 4  democratic system 7 call for legislation
social policy prison system draft legislation
insurance policy judicial system bring in legislation

i i political system tighten legislation
immigration policy media system take up legislation

2 local authority 5 TV licence 8 intellectual property

[ planning authority gun licence autumn property
moral authority family licence personal property
statutory authority export licence residential property
music authority international licence lost property

3 economic reform 6 child crime
democratic reform petty crime
constitutional reform white collar crime
prison reform organised crime
physical reform juvenile crime

ﬂ Now use one of the collocations from each group above to complete the following sentences.
1 Mr Jones complained to his ..
- without permission and without compensatsm

4 IF you shlp goods overseas without an ..
and you may be fined or imprisoned.

|

.. about the irregular rubbish collection.
2 Faced with the problem of |Ilegal wnrkers, the gavernment iS FeVIEWINg its ...ooovevneicirennnen.
3 In court, it was heard that the company had used the professor's .................cooooevoooooi .

-, Your goods can be seized

5 - is typically described as financial, economic or corporate

Cnme, nften carned uut by sophlstlcated means.

6 In the proposed ... <vver the majority of
members in the Llpper H0use are to be elected
7 At the conference, campaigners .. ... to ban cinema

advertisements for tobacco being shg\,‘," m under 185

[3. | In the boxes below, match the words in the column on the left with their meanings on the right.

4 one-party state with the support of the military
— D a country in which an unelected king or queen is head of state

s - dictatorship E a country in which the people elect their head of state, who
6 totalitarian state usually referred to as a president
- F asociety ruled by religious scholars or priests
|_? manarchy G a country in which only one political party is permitted

|| C a country ruled by one person who has complete power, usually

1 democracy A a country in which every aspect of life is controlled by the |
= : government and in which opposition is not tolerated

2 republic B a country in which™ people can choose their government via freely

3| | theocracy contested elections

is

(5 —



@ See if you can match the verbs on the left with the noun phrases in the column on the right.

'1 1| prohibit | A films and television shows

|2 | ] regulate | B information

3 restrict | € the financial services industry

|4 [ classify D dangerous drugs

|5 | censor E the numbers of illegal immigrants
L /| 1 - —

LS; Place the words on the left in the appropriate spaces on the right.

1 bill A

2 treaty

3 constitution

On June 28, 1919, Germany and the All|ed Mations (mcludmg Britain,
France, Italy and Russia) signed the .. ‘ .. of Versailles,

formally ending the war.
The 19?6 i ... vprohibits discrimination based on race,

colour, r'eh'on sex or v national ongm

C His paper was relected because he did not follow the submission ............ .
| D The.. e ., which was introduced into Parliament in November,
4 pguidelines pruposed a b&l‘l on all cruel sports.
E Campaigners have welcomed the proposed EU ...
5 act banning tobacco advertising, sponsorship and promotion.
F Article |, Section 8 of the United SEtes .......cvmrmrimmimmsicinienicisss
6 directive states: “The Congress shall have Power ... To declare War...." )
.ri| Some recycled words
Place the words on the left in the appropriate spaces on the right.
isi A The resignation of the prime minister led to a severe political ..............
o B The decg?on to join the Euro was decided by national referendum because
2 consequences it was a constitutional ........... e
C The rulin re| ed calls for mocratlc T o
3 dilemwma D The protesstﬁsnywerj::amed of the legal ... ... they
4 isae faced as a result of their actions.
E The hlgh level of tax revenue generated by tobacco poses an ethical
5 reform .. for the government.

. Discuss the meaning of the following terms/phrases with a partner and then group them under the

general headings below.

high taxes for the rich Jfree university education  smaller public sector

privatisation nationalised industries high spending on bealth and education
anti-trade wunion legislation welfare state

good state pensions for old people  low taxes for businesses

right wing

Look at the words in the grid below. Indicate where you think the adjectives and nouns form strong

collocations.

;- g .

" - Eé' ¥ ¥ 2 F
E§ &4 ¢ & ¢
industrial [ ]
democratic X I
ethical
legal
civil
lenient

emergency X

Complete each of the following sentences with a suitable collocation from the grid above.

1 The miners had to undergo a 3-hour medical examination before they could claim
PR . for their injuries.
2 A healthy = weeeennrn IS ONE where ordinary citizens are able to
effectively debate and partu:npate in gm.rernment decmon-makmg and polncy
3 The government announced a series of ...

. as the forest fires
continued to burn out of control.

4 Generally, a. - - is a court procedure for working out a disagreement
between two people busmesses or arganlsatmrrs

5 An.. - is a situation in which one is unsure of what to do as two
or more values may be in conﬂlr:t

6 The robber was fortunate to appear before a .............coovovovooo who gave him a 15-
month suspended sentence for the robbery.

7 One of the goals of the .........co..c.coooeveevveererees e, is the just and peaceable resolution of

disagreements within society.

(7 —



ﬁluatchthcphusesinthemlnmnm the right with those in the column on the left.

| [ Ministers determine the overall A has not decided what action to take
2 | |in order to make an international treaty or a B to the subject matter of the Bill
: C a limited number of major Bills in
[ | Dlrectwe :
: . each session
3 | | The Parliamentary timetable has room for only | D scope of a Bill
4 organisations consulted vary according E from the European Union part of
5 | | when the government United Kingdom law

@Nwwtmcphmthtyonm&rmdmmwmespmhmmm.

The Creation of a Legislative Bill

The idea, or inspiration, for a piece of legislation can come from a variety of sources, including political
parties (often as part of their election manifesto) and government departments, interest groups and research
urganlnﬂom.wmerormdemnclaﬂm or expert bodies. Sometimes a plece of legislation is
introduced 1) ...

Gmmmrt dqmlmem: a.lso thlnlr ahemd w cnmmlul-unhg mnn:h seelug
Inw othu ooun'h'iu t.adde similar problems, and holding discussions with relevant European Union bodies
and international organisations.

The Cabinet decides what the priorities are for each legislative session. A session lasts about a year, usually

starting around November. 2) ......ccoonrrininnn
er“!' abu:ml 15-20 le Cabiut Ilu ho bal.unce mmlfuto

mmmmmmmdmuwmmwmmmuOmmmm
has been taken to go ahead with a particular proposal, the next step of writing the Bill can begin.

Ministers and their civil servants are responsible for the content of Bills. 3) ... o

duﬂwuutsmrmmlblehrwkhgmtmtdmll Gwammentlaqrzrs
knwnus?arlimtu‘y(‘,oumddrdtmeﬂll They have to make it as precise and clear as possible so that
everyone knows what it means and it does not contain any loopholes.

Before starting to draft a Bill, the government often organises a period of formal consultation. Either a
‘GmMdma'merwxmw.wmm“ukmwdomMm
whnﬂthﬂ-commmumdmmenhmampwﬁhammdhiﬂydeﬂnhwI.Mmthm.
A Green Paper (or consultation document) is more exploratory, and is often issued 4) ..

Wi Scmethnua%hehpnhllma&mnmnd
buthmayhedebaled in Padimmthfmﬂummwocudstu legislation.

The Bill does not take shape in isolation. Ministers and civil servants camy out extensive informal
consultations to ensure that it covers everything and works in practice. The people and

5) .. P . . They generally
Indudem&mdeomnhaﬁm unlmn.H?l a.nd olherpoliﬂﬁam theTrmmvmdoﬂm government
departments and international agencies.

A controversial Bill may go to the Cabinet, or to one of its Committees, for further discussion. Bills are
increasingly being published in draft form to allow more time for public scrutiny and consultation.

|

Li_i;lbmknpthcfnlhﬂngmrﬂsandlhmgl‘uuplhemundertllegeneﬂlhudingsbelnw.

vandalism  tax evasion  perjury  armed robbery
shopling affray  speeding  assauls Pro RS e il

less serious ]

[

' law (RULE) noun [CJ[U]

a rule, usually made by a government, that is used to orde

b g i rulfs used to order the way in which a society behaves, or the .
There are laws against drinking in the street. '
The laws governing the possession of firearms are being reviewed. .
They led the fight to impose laws on smoking.
They have to provide a contract by law.
She’s going to study law at university.
| [+ ing f f verb
B g or:lso I[+ to infinitive] Many doctors want to see a law banning/to ban ail tobacco
| See also bylaw; lawsuit; lawyer.

the law noun [S]

the system of rules of a particular country:

| What does the law say about having alcohol in the blood while driving?
| Of course robbery is against the law!

: The judge ruled that the directors had knowingly broken the law.

| You can't take that course of action and remain within the law.

Cambridge Advanced Leamner’s Dictionary © Cambridge University Press, 2003 <dictionary.cambridge.org/>

13 The Process of Criminal Prosecution

a) Reorder the words below so that they correspond to the
process of criminal prosecution.
words may be used more than once. —

find guilty charge arrest cross-examine commit senlerice

b) Now decide how the following nouns are commonly used with the words above.
crime police prosecution Jury Judge police station prison

(9 m——



(14 In the boxes below, match the words in the column on the left with their meanings on the right.

" terrorism A when an innocent person is found guilty by a court of law, also
- l known as a miscarriage of justice :
2 inhumane | B something which discourages people from doing something |
— by making them fear the consequences
i3 vengeance | € used to describe an action which is extremely cruel

i= I D the legal killing of someone wha has committed a very serious

4 deterrent crime (not legal within the EU)
— E wanting to hurt or punish somebody because they have hurt
5 capital punishment you
— F using violence against innocent civilians to achieve political
6 wrongful conviction goals
@ Speaking Activity

Ingmupsofthreeurfom.studylhecmsbduwanddeddeonappmpﬁﬂepunhhmcnlsfnremh.

a) Phillip Jones seriously injured a man after being discovered during burglary. The man had gone to

investigate some strange noises coming from next door.
b) Tom Cook broke into the home of a 20 year old student, threatened her with a knife, and then robbed

her.
¢) Martha Riley stole $33,000 from the bank which employed her. She did this by setting up false accounts

and transferring money in other people’s names.
d) Celine Smith sold information about the company she worked for to a foreign competitor.
¢) Tony Martin shot and killed a young burglar who had broken into his isolated farmhouse.

Exchange information with other groups in the class to determine which crimes the class as a whole consider
to be the most and least serious.

Writing Task
Write  short discussion essay on the arguments for and against the reintroduction of the death penalty. You

could use some of the following words: issue, debate, argument, consequence, controversial. Initially, you
might like to work in small groups to list the arguments that are used for and those that are used against.

You should write between 250 and 300 words.

= 7/)

Culture 12

=1
| 1.| Discuss what the following words and phrases mean to you. What are the differences between those
words with an article and those words without?

culture  aculture anart the arts bumanity  the bumanities film  afilm

m Now pair these words with their correct definition.

1 4. art A a cinema film, video recording, computer game or any other
medium with moving images

2

-] the Arts B the art or business of making cinema films
3 e C toshow an uncbrst‘anl:ﬁng‘ and kindness towards other people

] D a group of academic subjects or areas such as history, languages,
4 il philosaphy, Iin‘gm'listics, law, religion, politics and sociology

s ] E a way‘of describing how a group of people live and work together, |
5 Eilm including food, clothes, rules for getting on with one another, and |

- how they use and understand the world around them
6 a'fim F a particular craft or skill that you can be taught

-~ G creative activity in visual art, music, literature and the performing
7 humanity arts of theatre and dance

— H the cultivation of the human intellect and aesthetic sensibilities to
8 The humanities their maximum potential

|

|i—| Use the following words to fill in the gaps in the sentences below.
aspect  culture culture debate film Humanities bumanities trends

1 Teenagers and their a) ..........eeociremmmoren are influencing their parents’ popular
bB) i, SQY experts, and retailers such as Gap are targeting both groups.

2 Thec).. s Consortium, created in 1996, cultivates new ways of addressing the
most pressing issues in the d) ..o, and develops substantial
) cisiiitinsinsninannnn. @CT05S academic disciplines.

3 rUIli_rnalter, however, no matter how good or bad a particular ) ............ccce.cecceoe... Was, the most
;:lltrlgumg and rewarding g) ........................ Of the festival was a unique perspective on a different

7] -
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4. a) Match the following pairs of phrases from instructions given to undergraduates for completing

a course at an American university.

3 || howthe story | A what criteria
2 | | According to B study
3 a serious | C qualifies as

b) Now use the phrases you have formed to fill in the gaps in the first part of the text.

English 225: Science Fiction: Professor Wayne Berninger

There will be a term poper [seven pages, typed) due on the last day of class. Your poper will be
1) e OF @ short work of science fiction. Your term paper will constitute 40% of

your course grade. | imagine this project as follows: first, you must provide a definition and a context.
What is your subject? How is it generally categorized and discussed® 2] ......ooercocecnnnnsnnis
..? In this case, you should discuss 3)... . science fiction,

according to the criteria we discuss in class and other criteria you discover in your reading of critical

materials.

¢) Match the following pairs of phrases.

A science fiction
B within the framework
C this initial discussion

place the story
to define
a part of

W =

d) Now use the phrases you've just formed to fill in the gaps in this second part of the text.

As 1) .. . you will need 2) e
You will ﬂ|so need to 3) a7 o .. of the historical daw|opmem
of science fiction as a genre. This port of the poper will prnwdn your reader with @ context for

understanding your subsequent critical argument,

| In the area r}f LultLH’L‘ it is important to recognize 11‘I{-' style of the url!mg

-

|5.] Look at the following short texts in the right hand column. Match them to the descriptions of the
 text style in the left hand column,

financial

academic

journalistic

personal

administrative

advertising

religious

A First 1 don't think you should feel so down about it; a brief review of

your successes when we were sitting at a table in Swindon revealed
rather more success than you were prepared to admit! The big guns are
fighting shy - that's all.

Take advantage of these great offers and escape to some of Europe’s
romantic, vibrant and exciting cities. Why not treat your loved one to a
romantic break in magical Paris or historic Rome?

Each member of staff will have a signed contract of employment,
including a written statement of terms and conditions, which will
provide reasonable terms for such areas as may contribute to the
effective operation of the organisation. -

The Bank of England said on Wednesday that the sluggish global
economy and the continued buoyance of consumer spending and
house prices posed risks to its projections for the British economy.
Releasing its quarterly inflation report, the Bank said that inflation
would drop back over the next year before edging back up above its 2.5
per cent target in about two years’ time.

It blazed a soft yellow, a lambent light under a film of velvet; it filled
the caverns behind the eyes with light. All that inner darkness became
a hall, leaf smelling, earth smelling, of yellow light.

They that are endued with sincerity and faithfulness should associate

with all the peoples and kindreds of the earth with joy and radiance,

inasmuch as consorting with people hath promoted and will continue
to promote unity and concord, which in turn are conducive to the
maintenance of order in the world and to the regeneration of nations.

First Vaughan, then Smith held court in the Trent Bridge Long Room on
the eve of today's Third Test - one which Vaughan, wounded by
crushing defeat at Lord's in his first Test as captain, needs to win.

Research on death and adolescent bereavement was sparse prior to
1981, but a substantial body of scholarship pertaining to adolescent

__grief experiences has.emerged in_the past decade. On the whole,
however,

, adolescent bereavement has not caught the attention of the
mainstream of researchers in adolescence.
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|E Put the following words and phrases into two groups, the first group for ‘high’ culture and the

second for ‘low’ culiure.

broadsheet Arthouse fish and cbips Neo-classical tabloid
cartoons Definitive bigh-brow Contemporary
Classic dumbing-down intellectual rap-music
Classical English football fans lTow-brow romantic novel
Cult Las Vegas Mickey Mouse Romantic
'Hiﬁh' culture ‘Low’ Culture _l
]

1 Why have you put the words in the columns that you have?
2 What do the terms ‘high’ culture and ‘low’ culture mean to you, and what do they mean in the

culture of your first language?
3 Are there any of the terms that did not fit into either COIUMNT ...,

4 Can you add any more words to the lists?

7.] ) Match the words and phrases on the left with their antonyms on the right.

1 post-colonial | A mainstream
2 rare B common
3 on the margins| C colonial(ism)

b) Now use some of the words to fill the gaps in the following sentences — note that there are six
words above and only five gaps.

.. themes in African literature, such as the experience of
mdepen:ience and the question of identity in @ .

1 We will discuss some .

context.
2 Broadcastlng gave African American jazz and blues artists a new level of exposure, bnnglng aspects
of @ *culture ......oesiuarinnas * to the attention of the ..

[8.] 2) Match the words and phrases on the left with their antonyms on the right.

1 regional A host culture
| | immigrant culture | B free
3 banned C central

b) Now use some of the words in Exercise 8a to fill the gaps in the following sentences — note that

there are six words and only four gaps.

During this period the major academies of fine art were removed from the authority of the
..................... <reereeen. ACademny of Fine Arts and placed under the control of their native provinces.
Decentralization thus encouraged the development of ... art styles.
Acculturation is defined as the immigrant's acquisition of ...........cc.ccceevereicerivenceee traits (Laroche et
al, 1998). There is a tendency to see acculturation as the opposite of ethnic identity and see them
as independent from each other.

One critic has written of the situation of Hungarian literature since the early 1990s: "Intense interest
|, [ e literature lasted approximately one year. Then it quickly decreased.”

9.] Look at the collocations below. Can you identify the least likely collocation in each set?

| 1 ethical context 3 thriller fiction

medium context crime fiction
contemporary context mystery fiction
alternative context genre fiction
liberal context non-fiction |

2 exhibit the hallmarks 4 media junky |
exhibit topics media attention I
exhibit the behaviour media icon !
exhibit a trend media inattention |
exhibit at a gallery media empire |

@Nwmmdhmﬂmmmmmpamwﬂﬂmcmhmhnfmeumm

The course presents the main social and ... for computer science
development into the twenty-first century.
Many people feel that in the current news climate you have to be a ..........coovvvensivsnsinns. , bUYING

all the newspapers and watching a lot of television, in order to get any real news.
The film portrays relationships and friendships as our lifeline to humanity. It's only when we are
caring for others that we . .. of human beings.

mﬂvbe _mw fiction romantic novels, historical novels, murder
mxsten ’ chlidren s and Mng adult fiction.

@lﬂokﬂﬂcmﬂmﬂnmhthw.tmmidmﬁfythchﬂﬂkdycolhuﬂmhmhsﬂ?

[1 alternative culture 3 classical allusion
alternative comedian classical text
alternative source classical civilisation
alternative scenario classical styles
alternative academy classical phenomenon

2 feminine stereotype 4 historical drama
work stereotype domestic drama
convenient stereotype Renaissance drama
traditional stereotype happy drama
racial stereotype social drama
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[12] Now use one of the collocations from each group in Exercise 11 to fill the gaps in each of these
sentences.

2 Some people argue agamst a ‘Mother's Day' in order to combat the ...
................................... of women in the noble role of mother.

3 In November 1995 the Archive of ... opened at the Department of
European Ethnology. The archive is a collection of literary, artistic and political records referring to
the ‘new social movements’ in Germany since the 1960s.

4 Alan Parker’s Shoot the Moon (1992) is a powerful but sometimes sentimental .............ccccooviens
.............................. about a failing marriage.

[13] Speaking Activity
What does the word ‘culture’ mean to you as an individual? How does your own first language culture show

itself either in the place you live in, or in you yourself? Prepare to give a five-minute informal talk on this topic.
Form groups of three or four, preferably with students of different cultural backgrounds, and give your talks.

14, Writing Task
Write a short essay describing what ‘culture’ means to you.

You should write between 250 and 300 words.

—

Health & Well-being 13

.1' Put the following words into groups of nouns, verbs and adjectives. Discuss your groupings with
a partner.

fatal outhreak diagnosis ailment tissue
infect practitioner disorder chronic —
injure prognosis remedy side effects vaccine

medication contagious scar symptom virus

Verbs ' Adjectives

> Are there other groupings for these words?

2] Look at the following words and synonyms for illness. Match them with their definitions.

1 ] ailment ]' A an illness that is caused by a particular infection rather than by an accident |
" i B r.:ﬂ;l::: which does not seem serious although it may be painful and last for a
3 condition | € aslight iliness, esp. of the stomach

== s D feeling ill as though you were going to vomit * This can also be used as a
4 || disease synonym for ill".
5 apset E illness which prevents a part of your body or mind from working properly

— F the condition of becoming ill when you eat, breath, or contact a particular
6 [ sick substance, although that substance is harmless to most people

| 3.] Fill the gaps using the following words: disease, upset, sick

1 Malaria is probably the most devastating ... = - on the African continent.

2 Five well-known products were assessed by a |:une| uf experts 1or lreatmg a combined headache
and .. - stomach on the basis of their |ngred|ents

3 Hewld h|5 hossesthatmryonewi‘nwas Sy .. had eaten eggs. I

| 4. Fill the gaps using the following words: ailment, allergy, condition

1 Bernard had been with the company for some nine years but unfortunately developed a heart |
.. which left him unable to drive at work. L
2 The famll',- suffered lragnc Iosses three of the youngest having died of measles or some childish li
= mvolwng arash and a cwsh I
3 Explam that you 'have an . - to certain foods and that these will trigger a '
reaction. —L
77
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5.] You are going to read a passage from a press release about the relationship between literacy (the

" ability to read and write) and health levels.

S

10

15

20

1 an underlying A 90 million people at risk

2 [ | puts B body of evidence

3| | studies C factor in

4| | unveiled D have shown

5| | addresses E predictor

6 | | anincreasing F the growing public health problem

7 ]'_' a stronger G an aggressive action agenda ]

a) Before you read the passage match the words on the right with the words on the left.

b) Now read the passage and insert the phrases from above into the passage. Answer the questions
in the right hand column as you are reading.

WASHINGTON - Literacy skills are 1) .. What does ‘health status’ mean?

of an individual's health status than age, income, emplaymem sialua
education level, or racial/ethnic group, according to the Partnership for
Clear Health Communication. The group, a new coalition of 19 of the
nation’s top health and civic organizations, today 2) ...

serenene OF low *health h[cracy, or the a‘mhty o read
understami and act on health information.

4) ... resssssmssssosmsmmssssssensssensenssssss NAiCALES that low health
h[era.q' may 'be 5) A e e ... high use of some
health care services as well as mﬂuenmng hn.l'm ou.l‘cam This pervasive
but, until now, relatively hidden issue is estimated to cost the U.S. health

care system up to $73 billion annually and 6) ..o
... for poor health outcomes.

What does ‘health outcomes’

The difficulty may be due to poor reading comprehension skills, the
complexity of medical information, or the format in which it is delivered.
Certain groups are more vulnerable due to age, language skills, cultural
factors or reading skills; however, anyone can have difficulty
understanding health care information. 7) ..

et .. that even people whn are oolleg: cdumlcd and can
understand cornphcated words prefer to have medical information stated

simply.

Which ‘difficulty'? ..o

What does ‘format’ mean here?

What does ‘factors’ mean here?

[ With mdny hl"‘d“h ad[err:\rs-t. you may want to use very but there are ulh:.r u.nrds with a similar |
L]

mf.dmng which are \Irl‘l-n;_.‘l_r Or mare prec ise, For o:qampll

severely ill deeply wounded

16] Put the following words which mean ‘very’ into correct pairs with the following words. Use only one

adverb with each adjective.

A extremely greatly severely

Nuwputthephmcsinth:fo“wingmtencmﬂseuchphmonccmly.

1 Inever dreamed | could be ...........ccermuvmseennvennnsrenrennne: . to nicotine,
2 Diving is an . .
sport if not done properly.
3 It has been proved ﬁm even a 5hort stay helps not only the carers but the patients, who
................................................... from a change of scenery and the use of the many facilities there.
B fully profusely severely
e ... CONSCious OO POOOOOO | " |
B i e, Affected o
Now put the phrases in the following sentences. Use each phrase once only.
1 She dashed out into the road, where she saw Ann's inert and .. ey body.
2 The crash victim is .....c..eeeurnrns AEHRLLILA LR e sor b again, five weeks after rhe car amdmt that put him

in a coma.

3 They were advised to use topical steroids only on ..... «.e.. areas of skin.

C deeply severely utterly

- [T ... exhausted
b .. damaged
c depressed

|
Now put the phrases in the following sentences. Use each phrase once only. I

1 On a trip to America in 1872 his sight was . e
2 But after critics attacked his third string quartet Neumann became
sssseesee. and never wrote another major work.
3 In the s summer, she became pregnant yet again and, ........
into hospital for observation.

. in an accident.
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EmmhmunedMQCQUmtewim the noun at the end of the list. Cross out the one
which does not fit.

Take, control, use, need, stop, donate, receive, reduce — medication
Produce, grow, cause, experience, have, reduce, suffer - side effects

Apply, sleep, need, take, use, suggest, choose, lack, supply - a remedy
Infect with, treat for, pick up, pass on, contract, take on — a virus

Receive, develop, use, treat, license, search for, - a vaccine

Cope with, confirm, suffer, infect, control, investigate, prevent - an outbreak

- T R SR

8.] Use five of the possible phrases from Exercise 7 to complete the following sentences.

1 As the disease spread, governments across the world devised strategies t0 ... the

2 Studnai shomd that patlaﬂs who were prescribed the drug ... from severe

3 The ----------- canmlybe wennens through physical contact.

4 The lherapm was unable to it

5 His mental illness returned after he stopped ......o.veervennevsvmennnnes 8 v
which his doctor had prescribed.

[9 You will now read a passage about the effects of modern diet on lung diseases. Add the following
adverbs and adjectives to the passage. Put each adverb and adjective in the correct place in the
numbered gaps.

single partly stark clearly relatively significantly closely
distinctly  clear major closely genetically  actually

Asthma - the (1) most important cause of illness in children in Europe

- could be (2) ...... .. blamed on a diet of junk food and not enough fresh fruit

and vegetables. Anthony Seaton, head of environmental and occupational medicine at Aberdeen
University, led a study of children in Saudi Arabia where rural communities live in
{3 .. rrerereeneeeenns. CONtrast to those in westernised Jeddah. “What we were able to
dmaa {4] cvsverennenns. 19 thatt, after taking into account social factors and any
family history of alergm. adul{S} . . poor in vegetables and the nutrients
contained in them, (6) ... - mclmad the risk in Saudi children,” he said.
This (7) ... rnsmhed an aarllar study among adults in Scotland. Professor
Seaton md Saudn oollsagues looked at communities with (8) ... ... different
lifestyles and rates of allergies. Theyreponlnmspumlmmmﬂ'la!mwmmpared 100
children, with an average age of 12 and with whesnng or asthmatic symptoms, with 200 non-
asthmatic children. ‘There is now (9) ... .. evidence that diet is a

(10) ... ... factor in {11) datem'ﬂmng whether or not a
- [P ... predisposed |ndmdud (13} sernssesssennnensess 1EVOIOPS
the disease.

RN T T e

10. One adjective in each line does not collocate with the noun at the end of the list. Cross out the one
which does not fit.

critical, heart, poor, small, satisfactory, stable, weak — condition

chranic, common, deadly, fatal, incurable, infectious, popular, wasting ~ disease
eating, digestive, hereditary, mental, neural, poor - disorder

brief, imaginary, mysterious, recurrent, ear, severe, terminal - illness

acute, complicated, formidable, heavy, intractable, recurrent, tricky - problem

W ok W e =

E Now use a phrase from the collocations in Exercise 10 to complete the following sentences.

1 After undergoing major surgery, he was described as Being in @ ....co...covvvurrmrnnsiisiesss s cornesen
2 Her dramatic loss of weight since December has been put down to an .............ccooccoovvvvee.....

3 Fmdmg a cheap and effectlve cure for AIDS isa .
4 The pat:enl made a rapid recmrery but the medical “staff were unable to uientfy the

5 Ebola in one of lhe most dangerous S Fiasr s s i iR ReSR AR RR s SR R s vscasiesnse, IKNIVWATY, L ITVAATY.

-@Canynu suggest some situations where the following idiomatic expressions might be used?

give someone a taste of their own medicine  back on one's feet a bitter pill to swallow
a clean bill of bealth under the weatber on the mend
run down

[13) Speaking Activity

What are the main health problems in the country and culture you come from? Prepare and present a short
speech on this topic to the rest of the class.

(14 Writing Task
Describe the main health problems in your country and suggest some possible solutions to those problems.
You might like to use the problem/solution text in Unit 4 as a model for your essay.

You should write between 250 and 300 words.

5] w—



1“} \\HIL}H of Science and hhunu_.lncm ]

|l_ The scientific process

Can you say which of the verbs below collocate with the nouns in the table? Some of the verbs
Deu:rlbing the scientific process collocate with more than one noun.
" Match the words on the left with the definitions on the right.

a) setup c) note ¢) ohtain g) interview i} record
e ok — S b s :
i phenomenon a possible explanation, usually in the form of a statement, } SRy Qukieondday d) observe f) tabulate h) select
N ) l'ur a particular situation or condition, but which has not | — - — ~ —
|2 to subject something to tests yet been tested | | L e N e o L | research —I
3 B hypothesis B to show, with evidence, that a theory or hypothesis is false | & -| @ survey
- C something which is observed to happen or to exist; used | : ! -| an experiment
4 | | delineate especially when the cause is unknown g +| Instruments
B D to show that something is true by careful examination or ¥ apparatus
5 verify i testing g . .| subjects
7 : bt : ing i - .eee | Inferviews
6 . e, E to provide additional evidence to show that something is 8 Y o
= true 9 > spol
7 refute F to present a list in a clear order l10 : ::3“
i G a question which needs to be answered or solved L Z s N
8 problem H to test something scientifically

ﬂ Use the phrases in the column on the left to complete the sentences on the right.

e 5 s are the main steps of the standard experimental method; however, the order of the 1 scientific instrument | A ;helnew allarm is a h ................... for protecting against theft ]
steps has been changed. Based on your own understanding of the process, see if you can correctly electronic cquipment such as computers.
constiin s 2 clever device | B A good, sharp pocket knife is a ..................... for every gardener or
camper.
The scientific method can be delineated into a number of steps, the exact formulation of which may 3 heavy machine . ?m;::imzmsl‘a:"n T ey g cht o
vary. The genersl pahem bs: | e B D The telescope is a .......... . that is used- for
hre i R T TR viewing far-away ohyects hke planets and slars
a adesign is developed to test the hypothesis EAdagramioof the .. ... used in the
' |3 handy tool experiment is shesny in anure 4
b a question is formulated based on the observation i
¢ the hypothesis is verified or refuted ;1 [5.] The microscopic world
{ Match the words on the left with the definitions on the right.
d relationships and patterns are tentatively identified ;
< 1 molecule A is a basic unit of life that maintains all necessary functi de
ST — g e sary functions in order to stay
d 2 electron B is an elementary particle assumed to be a constituent of every atom. It
f the conclusions are integrated with the previous concepts of science E B i carries the smallest known electric charge.
] 3 cell C is a member of a group of sub-microscopic agents which can infect plants
g amore or less formal hypothesis is developed _ - and animals, usually manifesting their presence by causing disease.
2 - D is a quantum of light, or the smallest possible packet of light at a given
. _ wavelength.
h the results are subjected to further tests and refinements - £ i the saliest Uit of 8 subsince il it o ths rties of that
5 photon substance,

The process involves such subsidiary steps as the review of relevant experience, the control of factors,
the measurement of quantities and variables, and the analysis and interpretation of data.

g2 i 83w



"84

6. Words associated with research
Match the words on the left with the definitions on the right.

" ‘Research | A isa measure of how well an instrument works in obtaining the same response

i ] over time.

|2 Science B is the degree to which an assessment process or device measures what it is

i — intended to measure.

|3 Reliability | C is a representative part of something that is larger. :
! — D is a body of knowledge derived from documented methodologies that lead to |
|4 A sample verifiable results and conclusions. |

— E is a systematic process which consists of three elements or components: (1) a |

5 Validity question, problem, or hypothesis, (2) data, and (3) analysis and interpretation of data. |

'7.] Scientific disciplines

Match the words on the left with the definitions on the right.

A may broadly be defined as the study of the complex and basic interactions
of matter, energy, space and time.

|r' Biology
sl o
l2 |

j Physics B is the study of living things and their vital processes.
- C is a branch of Mathematics concerned with the collection, analysis,
3 | Chemistry interpretation and presentation of masses of numerical data.

|
4 Epidemiology

D is the study of matter and its properties, the changes that matter
undergoes, and the energy associated with the changes.
E is the study of the distribution and prevalence of diseases and of the

5 Statistics determinants of health and disease risk in human populations.

Scienﬂﬁcspedalisaﬂms
Match the words on the left with the definitions on the right.

1 Neurologist A a person who specialises in the study of water, especially its
— characteristics, control and conservation :

2 Geologist B a person who specialises in the study and treatment of diseases of the
=t nervous system

3 | | Hydrologist | € a person who studies the forms of life that existed in former geologic
— periods, chiefly by studying fossils

4 Cosmologist D a person who specialises in the study of the nature, formation and origin
— of the earth’s crust and its layers

L] Palaeontologist | E aperson who spedialises in the study of the nature and origins of the universe

. ||| cluster of galaxies

o

9. The scale of things
Put the words below in order of scale.

e T i
' solar system man i

| microbe | subatomic particle
| ] water molecule [ universe

| o

'10] Match the adjectives on the left with their antonyms on the right.

1 | | random A expected

2 | | empirical B marginal

3 | abstract. C quantitative

4 | | qualitative D systematic

sy | -

5 | | significant E tangible

6 | | surprising F theoretical

7 simple G certain

| ‘—f .

{8 | | tentative H complex |
11, Types of research

Put the following words and phrases under the headings with which they fend to be associated.

personal experiences  measurements  figures and graphs  recorded interviews  statistics
correlations nunibers words subjects’ views '

Qualitative

Quantitati
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[12] scientific words elements

Prefexis and suffixes from Greek and Latin
Match the pairs of elements on the left with their meanings on the right.

F omni-/pan- A above, higher

| 2| | anthropo-/homo- B air
3| | aqua-/hydro- C all, every
4 [ | geo-/terra- D below, lower
5 [ | hyper-/super- E early, first
6| | somn-/dorm- F earth, land
7 | hypo-finfra-/sub- G half
8| | semizhemi- H language, tongue
9 [ iso-/homo- 1 life
10 [ | photo-/lumen- ] light
11 [ | poly-/multi- K man, human
12| | gloss-/lingua- L many
13 P“ uni-/mono- M not
14 [ | sonic-/phono- N old, ancient
15 [ | bio-jviv- O one, only
16| | glob-/sphere- P round shape/ball
17 [ | infaln)- Q same, similar
18| | -elle/-ule R sleep [
19 [ | bi-/du(o)- S small |
20 [ | stell-/astr- T sound
21 [ | -graphy/-ology U star(s)
22 [ | paleo-farche- V the study of/knowledge of
23 | | prim-/proto- W two [
24 [ | pneuma-/aero- X water 1!

Now work in groups and find words in your dictionary which are composed of the word elements
listed above. Can you think of any other word elements of classical origin?

13 Put the following phrases in the appropriate gaps in the following text which is about research into psi*.

terms of probabilities purely by chance

a single critical study

empirical sciences .
on the basis of a single experiment

In the early days of psi* experiments, sceptics insisted that “it would be sufficient ... to convince them of ESP if a
parapsychologist could perform successfully a single fraud-proof experiment”. But even the sceptics soon saw that
this was a mistake, because no experiment is perfect, and a flaw in 1) might ba
overlooked. In addition, experimental results in the 2) are often reported in
. | [ N i e or as odds against chance for one or another hypothesis. Thus, if a single
experiment contained odds against chance of a thousand to one, that seems pretty impressive, but such results
could have occurred, by definition, 4) one in a thousand times. Most scientists would
not be willing to change their beliefs about the nature of the world 5)
that produced odds against chance of a thousand to one. Or would they?

“psi: A lotter of the Greek alphabet () used as a neutral term for all ESP - type and psychokinetic phenomena.

|14] Speaking Activity

Discussing scientific developments

a) List what you think are the three most important scientific developments of the twentieth century.

b) When you have done this compare your list with that of another student, and together decide on a new
list.

¢) Be prepared to defend your list using well-supported arguments, but also make sure you listen to the
arguments of your partner,

d) Then join another pair of students and compare the new lists. In this larger group, try to come up with
a list that you can all agree on.

€) Once again defend your list using well-supported arguments, but also make sure that you listen to the
arguments of others.

f) Finally, you can compare your group lists with those of other groups in the class.

[15] Writing Task

Write a short discussion essay on the following topic.

Over the last bundred years science bas improved our lives enormously, but it bas also
brought great dangers

You should write between 250 and 300 words.
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EI The Economic System
Complete the sentences using words and phrases given in the box.

loans and mortgages  products revenue  salaries and wages

income tdx

benefits and services  goods and services  subsidies  capital and financial services

workers

consumers

citizens

households ,,/

The government gives

1 Banks provide to industry.

2 Consumers obtain from the market.

3 The government obtains from taxes.

4  Consumers take out from the banks.

5 Industry pays to the workforce.
6 The government provides for its citizens.

7 Industry sells its in the market.

8 Workers pay to the government.
9

to certain industries.

| 2.| Match the verbs on the left with the nouns on the right.

1 deduct A benefits
2 [ | investin | B charity
3| | giveto C stocks and shares
4 claim D fees
5 : charge E interest rates
6 take out F mortgage
=58 7| | cuyraise G tax

3.] Place the following words before or after the word TAX in the box below.
baven incentive evasion inberitance
income indirect culs import

. e A

B oyt s g b S e e are taxes on all of the assets that a person owns at the time of
death.

2 AL casrsssensenenenens 1S @ Feduction in the taxes paid in order to encourage a particular
l:md (:-f behawour

3 A ctrrnersnrensnseenseeanenness 15 @ COUNETY OF territory that does not levy taxes, or that levies them
at very Iuw rates

L <iesissesicnsene. 15 the intentional and illegal avoidance of paying mandatory taxes
m the govemment.

I R R T e are generally taxes levied on what people buy or pay for.

|5.] Look at the definition below.

A company is an organisation which is formed to sell or produce something, and has a
separate identity to the persons who own it.

Now make similar definitions by joining the words on the left with the meanings on the right.

1 | | Awarehouse A s a large business or company (often used in the USA).
s B is a large building where goods are produced.
2 | | Amultinational b &
= B s C is a company which has branches in many different countries.
3 | | Acorporation D is a large building where goods are stored.
4 A firin E is a basic unit of business which varies in size from one person to
= thousands.
5] | Aplant. F- is all the people and activities involved in making a type of product
6 A subsidiary or in providing a particular service.
] G is a company which is part of a larger more important company.
7 || Afactory H is a large complex building or set of buildings where goods are
8 An industry produced or power is generated.
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E Decide which words collocate with poverty and which words collocate with wealth.

! development perspective.

extreme vast inberited grinding
concentrated  personal relative abject

widespread urban

absolute oil

7.] Fill the gaps below with the following verbs.

alleviate accumidlate cause Lenerate redistribute

1 The new government promised to introduce new MEasures 10 ......uesmmn wealth to the
poor.

2 The organisation is working t0 ........ccoeeseceusessneen.. poverty in urban and rural areas.

3 Opening up mineral reSOUFCES CaN ......co.veesesisseiseee. WeIth, which can then be reinvested in the
economy.

4 Natural disasters such as droughts, floods and strong winds also .......................... poverty in many
countries.

5 Hpt e .. great wealth by devoting his intellect and energy to

magmauve pmﬁlable enterpnses

" The United Nations Development Programme defines poverty from a sustainable human l
Poverty is the denial of various choices and opportunities basic to

| human development. These include the ability to lead a long, creative and healthy life, to acquire

knowledge, to have freedom, dignity, self-respect and respect for others, and to have access to the

L resources needed for a decent standard of living.
——a

[8.] Fill the gaps below with the following words.

reduction developing growth barriers illiteracy

1 landlocked ..........cccccrunrenvune. COUNtries are generally among the poorest, with the weakest growth

2 Trade ..........cccooee... are laws, regulations, policies, or practices that protect domestic products from
foreign competition.

3 It has been argued at some length that manufacturing industry is pivotal for economic ..
4 Undoubtedly, the one issue central to the development debate is the issue uf pcwer‘ly

5 Studies show a strong correlation between high levels of .. .. and low life expectancy,

9.] Fill the gaps below with the foliowing words.

industrialised free indebledness gap commodity

T WHEN «.cooorrnicsnsssmssessnsesneen. PIiCeS fell in the 1980s, it was the poorer countries that suffered
maost,

2 Many critics say that ctrade policies are benefiting the rich western nations at the expense of the poorer
nations.

3 The.. . between rich and poor countries is increasing,

4 Over two-thlrds uf U 5 trade and investment is with other advanced ..
countries,

5

Poor countries in Africa need both debt reduction and aid in order to escape the cycle of poverty and

10/ Fill the gaps below with the following words.

economic economical economy economisi economics econontise

1 It is usually MOre ....cccoccociiviirniiiriisvicnns 10 buy goods in larger quantities than in smaller
quantities.

2 . . is the study of the way in which money , industry and trade are
orgamsed Wllhll"l a country or soclety

3 Adam Smith was a famous ..

4 The German .. nnfy grew by 0 5% last year.

5 Ifl hadto .. . I'd be happy to give up my car and take the bus instead,

6 The new government has set out the detazls ofits ....... B ... policy.

[11.) Write the negative forms of these adjectives using the correct prefix: (un-, in-, im, il-, a-)

2 dependent .......comiriemmseemmrerrenns 14 exhaustible

3 economic 15 relevant

4 developed 16 legal

5 accurate 17 profitable

6 equal 18 effective

7 literate 19 permanent

8 important 20 typical

9 efficient 0 SRR e i
10 political 22 stable i

11 active 23 sufficient
12 appropriate M omeverniblr . i

O =
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12] Can you suggest in what situations the following idiomatic expressions might be used?

opposite sides of the same coin the poverty trap from rags to riches
throw good money after bad the grass is always greener white elephant
money talks rolling in money
13. Complete the sentences below using the following words.
effects steps activities process trend
1 Depopulation is most commonly understood as the ............c..cccomnvecineinniinnns where the number

of inhabitants of a region is decreasing.

2 However, we may also consider the “depopulation” of certain segments of the workforce and the
population (well educated, young etc), which may have similar .............coooueemsvennerereenneen, on the
conditions for economic growth as an absolute depopulation.

3 These two processes often go hand in hand where the latter may be the first

... that lead ultimately to an absolute decrease in the number of inhabitants

Of“egwn

4 The other side of the depopulation issue is the continuing concentration of the population and
S R S in urban areas.

B SuefEaE e . if persistent, will increase regional disparities and counteract

measmes put in place lo promote economic and social cohesion,

14] Complete the sentences below using the following words.

industrial circle an issue development the situation

1 Regions across Europe are facing the problems created by depopulation. This forms part of a vicious
where decline in traditional sectors for employment leads to mobility and

depopulation.
2 This in turn creates problems, such as lack of market and workforce, for the

.. of businesses.
3 The depopufatlon problem exists across Europe especially in the south of Europe and in the
northern member states (Finland and Sweden) as well as in regions and areas characterised by
... decline.
4 Depopulatmn of regmns as it is understood above, should be seen as ...........
that needs to be addressed as a priority within future European policies for economnc a.nd sucnal
cohesion,
5 There is a possibility that access to information technologies may improve the
= . of thase regions by providing new opportunities for employment,
educatmn and busmeﬁes

15 Speaking Activity

List what you think are the three most important causes of poverty in the world (consider: lack of
education, natural disasters, disease, substance abuse, large families, low wages, globalisation,
corruption, lack of resources, war, trade policies, debt)

4) When you have done this compare your list with that of another student, and together decide on a new
list.

b) Be prepared to defend your list using well-supported arguments, but also make sure you listen to the
arguments of your partner.

¢) Then join another pair of students and compare the new lists. In this larger group, try to come up with
a list that you can all agree on,

d) Once again defend your list using well-supported arguments, but also make sure that you listen to the
arguments of others.

€) Finally, you can compare your group lists with those of other groups in the class.

16.| Writing Task

Write a short discussion essay on the following topic.
All countries need to develop their economies, but economic development alone will not solve poverty.

You should write between 250 and 300 words.
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Language for Discussions

Saying what you have listed

I've listed the following:...
What | listed was:....

But what about ...?

Disagreeing
But surely ...?
Have you considered ...?
| see what you mean, but ...
Yes, but don’t you think that ...?
Interrupting If | could just come in here, I'd like to say that ...

Asking for agreement

Are we agreed then?
Can we all agree on this?

Expressing agreement

Yes, | think that’s right.
Yes, I'm happy with that.
Yes, I'll go along with that.

Expressing lack of understanding

Sorry, | don't quite follow what you're saying.
Sorry, you've lost me.

Giving clarification

Let me put it another way, ...

Al SRS AT A
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Unit 1

abortion
access
adapting
advance
affect
agenda
alternative
animated
appropriate
area
argument
aspect
assume
benefit
breakdown
campaigns
censorship
collocate
compulsory
concede
conclusion
congest
congestion
continuation
contribute
contributory
controversial
created
critics
crucial

curb

curtail
debate
definitions
determine
discourage
discussion
divorce
draw
environment
environmental
euthanasia
examine
executed
fact

factor
feature
financially
furthermore
genes
graduates
identify
innocent
intelligent
issue

key

logical

make
moot
negligence
obvious
orbit
partner
penalty
persuasive
phrase
point
policy
previous
proposal
provoked
question
raise
range
referendum
restrict
restrictions
salient
schemes
sequence
solution
submitted
suggestion
thereby
thorny
traffic
transport
underlying
unpopular
unrealistic
usage

vital

Unit 2
abnormality

childcare
civilisation
combustion
comment

complex

confine
contradict
contrast
contribute
creation
criteria
criticism
culture
defects
deformity
demaographic
density
deteriorated
developmental
diet
discourse
discrimination
disperse
distribution
element
endangered
enumerator
establishment
evidence
evolution
evolve

factor
feature

focus

fossil
function

infectious

innovative
inspired
instance
interact
internal
intervention
issue
kinship
lowland

maintain

pesticides
physiology
plague
planet
policy
pollinate
predict
prey
promotion
protein
pursuit
rainforest
readiness
reasons
reinforce
reliable
research
rhythms
role
scheme
selection
sequence
shrinkage
similarky
species
speculation
stress
subdivided
subtle
technological
therapist
tissues
traditional
tribulation
pelsisy
underlying
unprecedented
varying
vital
vulnerable

Unit 3
achieve

attitude

blind
blunt

calculation
claim
community
concept
conclude
consequently
corruption
criticism
current
definitely
disintegrated
dispute
emotional
emphasises
engaging
entertainment
environmental
evaluation
evidence
evolution
expertise
faith
fascinating
geomelry

government
guarantee
harden
horoscope
hypothesis
ideational
impression
improve
indelible
inevitable
information’
insight
integration
intentions
irrational
issue
judgement
maintain
magor
management
naked

normally
objective
occurred
official
opinions
iding
perspective
planetary
polar
positive
potential
prevailing
prohibited
promote
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proposal
psychotherapy
rational
reconsider
relativity
relieve
rely
responsibility
revelations
rooted
rudimentary
scandal
sceptical
secure
shift
sideways
similar
so-called
solution
SOUICE
subjective
submit
subtle
suicide
suitable
superstition
sympathetic
tentalive
theory
tilt
treatment
triumph
trust
tutor
ultimate
understanding
unmistakably
valid
variables
viable
view
volcano
vulnerable

Unit 4

ACCEsSs
accurate
administrative
affect
agriculture
alternatives
analysis
apparer[t
appropriate
aspect
AWAreness
campaigns
circumstances
civil

complex

conference
consume
consumption
contamination
contributed
creator
crisis
debt
defect
defuse
degradation
delay
demolish
demonstrator
destroy
deteriorate
dilemma
disadvantage
disseminating
drawback
drift
effective
embryo
encouraged
especially
ethical
evolutionary
exacerbate
examination
expansion
expedition
explosive
exposure
extremely
fault
flaw
formulate
funds
gear
generated
genetic
global
harmful
healthcare
herbicides
hitch
humanitarian
humanity
indicate
individuals
insufficient
investigated
investigator
investing
irreversible
limitation
marital
murder
mystery
obstacle

oceans
opponent
organic
origin
original
outweighed
OVErCOme
packaging
participating
patterns
policy
pollution
predicament
premises
principal
procedure
process
projects
protests
puzzle
quandary
query
rectify
recycle
referring
refugees
renewable
require
rescue
restricted
reversal
risk
ruined
series
Serious
setback
settings
severe
shortcoming
significant
situation
SOUFCES
subsidising
sustainable
tackle
technical
tensions
theory
topic
transport
treatment
unexpected
universe
unsupported
unsustainable
waste

Unit 5

aback
abuse

accident
accommodation
accompanying
achievement
adapt
aftermath
alcohol
alcoholic
analogous
appropriate
association
atmosphere
attributable
behave

blame

bring about
celebrity
chronic
cognitive
composed
confidence
consequence
consequential
contextualise
correlation

environmental
eternal
evidence
factor
feminist
fiancée
figurative
fruitful
function
geographically
girlfriend
godfather
grave

habits

illegal
impairment
implications
impression
initiating
injury

irrespective
irreversible
leak
malnutrition
metaphor
mineral
mistook
mobile
mobility
monolingual
maotivation
nausea
norm
nuclear
organs
origin
outcome
paradoxically
parents
partner
patient
period
persuasive
physicians

ramifications
relationship
repercussions
represent
representational
resemblance
respectively
risk

screen
sequence
side-effect
sign

simile
spouse
starvation
statistical
symbol
symbolic
symptom
syndrome
tablets

tends

theory
traditional
transport
treatment
trigger

unambiguous
unconscious
underlying
undermining
violence
visible

vital

vitamin

Unit 6
abundant

accurate
agricultural
allege
ambient
approached
appropriate
article
association
atmosphere
attempt
authentic
authorities
categorical
chemicals
climate
commentator
concentrations
consequences
constriction
contextualise
controversial
conviction
declined
defects
definite
diagnosis
discuss
discussions
distinct
divinely
document
documented
BCONOMIC
emission
environment
essence
establish
evidence
exceed
expansion
expectation
exposure
financial
flimsy
forecast

hazy
heaters
hedging
impact
inconsistent
industrialised
inescapable
infection
inspired
instruments
insubstantial
irrefutable
irrigation
irritant
licence
located
logical
logically
magnitude
measurements
memory
meteorologists
mobile
molecules
objective
precursor
prospect
persecution
photochemnical
pollutants
pollution
positive
possibility
precise
predominate
preliminary
previous
processing
reactive
provisional
rapport
realistic
recollection
rejected
relationship
reliable
resistance
respiratory
satellites
severity
significant
similar
Smog :
souvenir
statement
stationery
surprising
technology
tentative
thermal

tissue
unambiguous
undeniable
unexpected
universe
unregulated
unshakeable
untenable
urban

valid

varied
vehicle
widespread

Unit 7

abstract
adapt
adjust
adolescence
advanced
alter
attitude
balance
breakdown
calibrate
changeable
chemical
classic
classical
complexity
conceivable
concepts
conservative
contemporary
conversely
convert
cultural

inconsistent
indicated
individual
induced
infrastructure
innovative
institution
instrument
intellectual
intensity
interrelated
intuitional
involve
irrelevant
liberal
linguistic
modern
modification
modify
negative
nuclear
nutrient
nutrition
occur
old-fashioned
contemporary
opfices
opposition
orbit
original
orthodox
output
overhaul
overthrow
patterns
peak
performance
period
permissible
physical
political
precipitation
premises
process

project
public
publication
qualify
radical
reaction
reactionary
redistribution
reform
refurbish
regime
regional
renovate
respond

restructuring

revise
revolution
seek

shape
sharply
shifting
significant
simultaneous
sparse
stable
statistics
steady
strategy
structure
system
taxation
technical
technology
temporary
traditional
tragic
transform
transformation
translate
trend
upgrade
vigorous
volatile
vulnerability
vulnerable

watershed
welfare

Unit 8
abolition
achieve
agenda
aid
alliances
alternative

blueprint

booking
cerebellum
civil
close-knit
committed
communicate
communication
community
complex
compliment
component
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corps
create
crucial
crux
democracy
design
designers
diagram
dialect
disasters
distribution
efficiently
{"SLI
emerging
entitled
establish
fabric
facilities
foundations
framework
governance
governmental
graduates
guidelines
hazardous
hierarchical
illustrative
indicated
infrastructure
institution
institutional
intricate framework
investment
involves
liberal
liberalisation
link
membrane
mitochondria
madel
molecules
mould
network
NEutrons
normal
norms
nucleus
objectives
organisation
partnerships
pattern
plan
plot
policy
predict
primitive
principles
procedure
redefined
reforms

rehabilitation
research
roles
route
security
senior

set

shift
significant
stable
stigma
strategy
structural
structure

style
sustainability
technology
television
theoretical
traditional
underclass
underlying
undertaken
universal

Unit 9

absorb
accessories
accumulate
affect
agreement
airborne
alien
allocate
amass
analyse
analysis
antibodies
appetites
approach

aspect
assemble
assessment
atmasphere
atomic

benefit

calories
carbohydrates
carriers
category
ceasefire
charities
chemical
classify

collate
collocation
communication
compile
component
comprehensive

comprise
concentrated
concerted
concordance
consequences
consist
constitute
contact
corporate
courts
craft
creating
department
disintegrated
donations
dramatic
econamy
embrace
empire
encompass
entire
evidence
exhibition
expansion
explicit
exposed
extraneous
extrinsic
facilities
faction
factor
federal
fraction
fracture
fragment
function
furnishings
identity
idiomatic
implicit
indicate
inessential
inherent
initiative
integral
integrated
interconnecting
interior
interpret
intrinsic
league
magnetism
magnified
maintaining
major
majority
marginal
marginalise
mental
MICroscopic

NEnvoUs
network
nuclear
nutrients,
objectives
nceanic
overall
particle
phases
phenomenon

physics
policy

polling
primary
procedure
project
promotion
protein
radiators
reference
released
religious
researchers
responding
role

scheduled
scheme
section
sects
security

site
software
supreme
symphony
Synonymous
synthesise
system
theory
undertaking
unified
uniformly
valid
venture

Unit 10
abusive
adept
alienation
analyse
assimilate
attention
authority
behave
behaviour
blame
breakdown
circumstances
communicate
communication
community

COMparison
comprehensive
conference
consequently
context
continual
conversant
convincing
cooperative
curious
deadline
decreases
definition
demand

depressive
diabetes

diagnosed
differential
diligent
discriminatory
displays
distribution
dominant
education
eligible
emolions
ensured
episode
evidence
evidently
exceptional
excerpt

excessive

owpeeplicy
exhibits
external
feature

final
focussed
formal
generated
hygiene
ideal

identify
imaginative
immune
impact
improvements
inadequate
incident
incisive
independent
informal
information
insightful
instrumental
insurance
integrative
intended

4 ot atS _tl ——

intensity
interaction
internal
interrupted
intrinsic
isolated
literacy
maintain
membrane
mention
method
meticulous
monolingual
mortality
maotivation
natural

permanent
persistence
personable
phenomenon
popular
practice
proceed
proportion
pursue
qualified
questionnaire
quotation
radical
range
rapport
reactions
recommendations
refer
referees
reference
referential
referral
refign
resistant
resource
resourcefulness
response
scale
semi-skilled
supportive
Survey
team
tense
therapy
tolerant
tornado
transformation
translated
treatise
tremendous
unassuming

undergraduate

unexpected
unprotected

varying
Unit 11

affray
amendment
arrest
assault
balance
ban
burglary
bylaw
cabinet
campaigners
censor
civilians
collection
commit
commitment
compensation
conference
conflict
CONgress
constitution
consultation
consumer
contested
confract
conviction
corporate
correspond
counsel
criminal
definite
democratic
deterrent
dilemma
directive
discourages
discrimination
draft
emergen
ethical v
evasion
exploratory
financial
fine
firearms
generated
goods
govemning
guidelines
guilty
identity
illegal
immigration
impose
imprisoned
indicate

informal
inhumane
innocent
inspiration
insurance
intellectual
intentions
investigate
irregular
isolation
judicial
jury
juvenile
kidnapping
knowingly
lawsuit
legal
legislation
legislative
lenient
left-wing
licence
loopholes
manifesto
miscarriage
monarchy
nationalised
opposition
overseas
parliament
parliamentary
participate
pe.mf.able
pensions
perjury
e
physical
policy
poses
precise
priorities
privatisation
prohibit
promotion
prosecution
protesters
published
punish
punishment
recycled
referendum
referred
reform
regulate
reintroduction
rejected
relevant
resignation
resolution
responsible
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restrict
revenue
right-wing
robbery
scope
scrutiny
seize
shaplifting
sophisticated
sponsorship
statutory
steal
submission
suspended
terrorism
theocracy
tighten
tolerated
totalitarian
transferring
treasury
treaty
tribunal
undergo
vandalism
vengeance
violence
welfare

wrongful
Unit 12

academy
acculturation
acquisition
adolescent
aesthetic
allusion
alternative
archive
arthouse
aspect
attention
balk
bereavement
blazed
blues
broadcasting
broadsheet
highbrow
lowbrow
cartoons
categorised
censorship
century
civilisation
classical
coinage
comedian
conducive
consorting

consortium
contribute
convenient
craft
creative
criteria
critic
crushing
cult
cultivation
culture
decentralisation
definitive
disciplines
domestic
drama
dumbing down
emerge
ethical
ethnic
ethnology
exciti
exhih:ls
experts
exposure
faithfulness
fans
feminine
festival
fiction
financial

gallery

genre
hallmarks
handbook '
host
humanities
humanity
icon
i:lent'rfy
images
imagine
immigrant
inattention
inflation
instructions
intellect
intellectual
intense
intriguing
jazz
journal
journalistic
junky
liberal
lifeline
mapical
mainstream
maintenance
margins



maximum
media
medium
mickey
novel
performing
perspective
pertaining
phenomena
phenomenon
philosophy
poetic
portrays
potential
projections
qualifies
racial
radiance
rap

rare
regeneration
releasing
renaissance
retailers
revealed
rewarding
risks
rOMMANCe
romantic novels
scenario
scholarship
sensibilities
sentimental
sluggish
sociology
sparse
stereotype
style
subsequent
SLCCesses
tabloid
target
teenagers
tendency
theatre
themes
thriller
topics
traditional
traits

treat

trend
unique
vibrant
visual

Unit 13

accident
acute
addicted
advise
agenda
aggressive
ailment
allergy
annually
assessed
asthmatic
bitter
blamed
carers
chronic
coalition
colleagues
coma
combined
communities
complexity
complicated
confirm
conscious
contagious
cope
critical
cure

damaged
dashed
deadly
deliver
demonstrate
depressed
devastating
devised
diagnosis
diet
digestive
disease
disorder
donate
drug
evidence
examination
exhausted

facilities
fatal
formidable
genetically
harmless
hereditary
hidden
identify
imaginary
income
incurable

indicates
inert
infection
infectious
ingredients
injure
intractable
investigate
involving
journal
junk
lifestyles
lung
malaria
measles
medical
medication
medicine
mend
mental
miscarriage
mysterious
neural
nicoting
nutrients
occupational
outcomes
panel
patient
pervasive
physical
pick

pill
practitioner
precise
predictor
predisposed
pregnant
prescribed
prognosis
rash
reaction
recovery
recurrent
release
remedy
risk

scar
search
Severg

sick
significantly
slight
stable
staff

stark
status
stomach

strategies

surgery
swallow
symptom
terminal
therapist
tissue
topical
tragic
transmit
treat
treating
tricky
trigger

trip
undergoing
underlying
unveiled
utterly
vaccine
victim
virus
vomit
vulnerable
wasting
weak
weight
westernised
wheezing
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abstract
alarm
analysis
apparatus.
appropriate
assessment
assumed
biology

cell
chemistry
cluster
collection
components
composed
concepts
conclusions
connected
CONSCIOUS
conservation
constituent
convince
correlations
corroborate
cosmologist
crust

data
defined
delineate
derived
design

determinants
device
diagram
disciplines
discrete
distribution
documented
electron
element
elementary
empirical
epidemiclogy
equipment
evidence
exacl
examination
false |
flaw
formulated
formulation
fossils

fraud

galaxy
geologist
graphs
hydrologist
h is
impressive

instrument

integrated

interactions

interpretation

interview

investigation |
laboratory

layers

maintains

manifesting [
marginal

mathernatics

method |
methodologies
microbe
microscopic
molecule
nemnvous
neurologist
neutral

odds

origin

conduct
outlined
overlooked
palaeontologist
parapsychologist
perfor
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periods
phenomenon/a
physics

planet

plate

pocket
prevalence
probabilities
processes
psychic
psychokinetic
qualitative
quantitative
quantum
random
refinements
refute
relevant
reliability
research
review

risk

sample
scale
significant
similar
sceplics
solar

solved
specialisations
specialises

stainless
statistics
subatomic
subsidiary
sufficient
suffixes
survey
tabulate
tangible
telescope

tentatively
theoretical
theory
tool
treatment
undergoes
universe
validity
variables
vary
verifiable
verified
verify
virus

vital
wavelength

Unit 15

abject
absolute
access
accumulate
accurate
acquire

aid

alcohol
alleviate
appropriate
areas
argument
assels
avoidance
barriers
behaviour
benefiting
benefits
charity
cohesion

commadity
compare
competition
complex
consumers
consumption
corporation
correct
corruption
counteract
creative
critic
cycle
debate
debt
decline
decrease
deduct
defend
denial
depopulation
disparities
domestic
droughts
BCOnomic
economical
ECONOMICS
economise
economist
economy
enterprises
evasion
exhaustible
fees
financial
gap
generate
globalisation
goods

grinding
househalds
identity
illegal
illiteracy
imaginative
impaort
incentive
income
indebtedness
industrialised
inhabitants
inheritance
inherited
intellect
intentional
invest
investment
involved
landlocked
legal

levied

levy

literate

laan
mandatory
mineral
maobility

mortgage
multinational
obtain
partner
permanent
persistent
perspective
pivatal
pabcy
practice
priority

promote
ra
redistribute
region
regional
regulations
reinvested
relevant
resOurces
revenue
reversible
rural
salaries
sectors
segments
stable
subsidiary
subsidies
sufficient
sustainable
takeout
technologies
territory
topic
traditional
trap
trend
typical
ultimately
urban
vary
vast
vicious
warehouse
widespread
workforce
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